| | | | Date: | 03-Aug-23 |
|----------|------------------------------------|------------------------------------|-------------------|--------------|
| Client : | Trillion Hotel | Total Tender Value | 3,14,99,955.00 +G | ST |
| Contrac | tor : SA Associates & Contracts Pv | t Ltd | | |
| FOR "Ti | rillian Hotel", Chhatarpur Delhi. | | | |
| | | ummary Sheet 6(Upto 03.08.2023) | | |
| Sr. No. | Descripton | S(Opto 03.00.2023) | Amount (In Rs.) | |
| 31. 140. | Bescripton | Total | Previous Bill | This Bill |
| Α | SUB-HEAD: INTERIOR WORKS: | | | |
| 1 | LOBBY | 70,79,534.27 | 66,25,071.39 | 4,54,462.88 |
| 2 | BANQUET | 1,78,51,072.74 | 1,71,05,513.62 | 7,45,559.12 |
| 3 | WASH ROOM | 37,17,521.24 | 31,08,107.71 | 6,09,413.53 |
| 4 | CMD OFFICE | 17,34,926.34 | 17,34,926.34 | |
| | Total Value of Work Done (A) | 3,03,83,054.58 | 2,85,73,619.06 | 18,09,435.52 |
| В | Less:- Recoveries | | | |
| 1 | Mobilisation Advance @10% | 30,00,000.00 | 28,57,361.91 | 1,42,638.09 |
| 11 | Retention@5% | 15,19,152.73 | 14,28,680.95 | 90,471.78 |
| | Total Recoveries (B) | 45,19,152.73 | 42,86,042.86 | 2,33,109.87 |
| | Net Payable Amount (C=A-B) | 2,58,63,901.86 | 2,42,87,576.20 | 15,76,325.66 |
| D | Add: GST on A @18% | 54,68,949.82 | 51,43,251.43 | 3,25,698.39 |
| | Total Amount (E=C+D) | 3,13,32,851.68 | 2,94,30,827.63 | 19,02,024.05 |
| F | Payment Recd. Till Date | | | |
| G | Total Payable (E-F) | | | 19,02,024.05 |

For, S A Associates & Contracts Pvt. Ltd.

Authorised Signatory

| SI.NO. | BANQUET HAL | UNIT | | antity | HUNK | RATE | % | Amount |
|--------|---|-----------|----------|-----------|-----------|--------------------|------|--------------|
| | Annual production of the control of | GITT! | Prev Qty | This Bill | Total Qty | RATE | 76 | Amount |
| | A DESCRIPTION OF THE PROPERTY | - Company | Fier way | Qty | Total Qty | | | |
| 1. 1.7 | Flooring Works | | | | | | | |
| 1 | Laying Italian Stone in Flooring including Band ,sil etc laid on 30 to 35mm thick cement mortar (1 white cement: 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC floor protection, assistance in procurement ,selection and wastage control of the owner supplied stone, complete all as per drawing. (MARBLE TO BE SUPPLIED BY CLIENT) | Sqm | 323.15 | - | 323.15 | 2,700.00 | 85% | 7,41,629.25 |
| | New | Sqm | 251.70 | 57.99 | 309.69 | 2,700.00 | 80% | 6,68,935.58 |
| 2 | Laying Italian Stone in triangular pattern Flooring with Botochino & Light Empradoor laid on 30 to 35mm thick cement mortar (1 white cement: 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC floor protection, assistance In procurement selection and wastage control of the owner supplied stone, complete all as per drawing. | Sqm | 268.08 | - | 268.08 | 3,400.00 | 85% | 7,74,751.20 |
| 100 | New | Sqm | 98.31 | | 98.31 | 2 400 00 | 000/ | 0.07.400.04 |
| 3 | Laying Commercial tile flooring for Banquet hall ,for the sub base of the Carpet in size of 300*300 mm of approved colour laid on 30mm thick cement mortar (1 cement : 4 coarse sand) and joined with white cement slurry mixed with matching colour pigment etc. (TILE TO BE SUPPLIED BY CLIENT) | | 575.35 | | 575.35 | 3,400.00 500.00 | 100% | 2,67,403.20 |
| | Stone Wall Cladding Works | E. | | | | | | |
| 4 | fixing Italian Stone in Wet Wall Cladding including SS clamps & fastener as per requirement/ architects instruction with book match grains as shown in the drawing at all heights, laid with 30 to 35mm thick cement mortar (1 white cement: 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC protection, assistance in procurement, selection and wastage control of the owner supplied stone, and 6mmx4mm Grove complete all as per drawing. | | 862.06 | 155.41 | 1017.47 | 2,850.00 | 95% | 27,54,797.59 |
| 5 | Fixing Italian Stone in Wet Wall Cladding, skirting, niches, sides, etc including SS clamps & fastener as per requirement/ architects instruction as shown in the drawing at all heights, laid with 30 to 35mm thick cement mortar (1 white cement : 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC protection, assistance in procurement ,selection and wastage control of the owner supplied stone,and 6mmx4mm Grove complete all as per drawing. (MARBLE TO BE SUPPLIED BY CLIENT) | Sqm | 20.00 | | 20.00 | 2,800.00 | 90% | 50,400.00 |
| 6 | Same as above but using approved chemical adhesive , in place of cement mortar on existing ply surface | Sqm | 604.55 | (0.00) | 604.55 | 2,900.00 | 95% | 16,65,532.77 |
| | Ceiling Works | | | | | | | |
| 7 | P/F Gypsum Board false ceiling using 2 number of 12mm thick gypboard in horizontal, vertical, coves & niches using gypsum ultra GI suspension system as per manufacturers recommendation. Complete with grouting, taping, making cut-outs for lights, grills, speaker, etc. The rate is inclusive of making suitable arrangement for chandler hanging wherever required, as per drawing at all heights. (BANQUET AREA) | Sqm | 817.57 | - | 817.57 | 1,475.00 | 98% | 11,81,801.77 |

| | ITEM | UN | IIT C | luantity | | | | |
|---|---|--------------------|----------|----------|-----------|-----------|-------|-------------|
| | Complete Comment would be a comment | 1 | Prev Qt | | | RATE | % | Amount |
| | | | | Qty | Total Qty | | | |
| | P/F Gynsum Poord fol | | | | | | | |
| <i>l</i> . | P/F Gypsum Board false ceiling using 2 number 12mm thick gypboard in horizontal, vertical, coves niches using gypsum ultra GI suspension system per manufacturers recommendation. Complete w grouting, taping, making cut-outs for lights, gri speaker, etc. The rate is inclusive of making suitat arrangement for chandler hanging wherever require as per drawing at all heights. (PREFUNCTION AREA | as vith | 664.27 | (0.00 | 880.85 | 1,475.0 | 0 98% | 12,73,262 |
| | Providing and doining redone prefuction ceiling due change of drawing | to Sqn | n 135.00 | 108.54 | 243.54 | 450.0 | | |
| | Dravidin | | 1 | 60.96 | 1 | 450.0 | 100% | 1,09,593. |
| | Providing and Applying 12 - 15 mm thick P.O. Punning on walls, columns, beams, niches, etc in rig angles, plumb, line & level including cleaning scaffolding, etc at all heights. Complete as pedrawing. Panelling Works | ht g, Sqn er | 1 | 60.96 | 0.00 | 310.00 | | - |
| | P/F of 12mm thick commercial ply panelling with 50m 50mm x16 gauge aluminium pipe framework @ 600 600 both way maximum, in all locations & at all height as per drawing and instruction at site by the architect. | s Sqm | 488.74 | | 488.74 | 2,625.00 | 98% | 12.57,289.2 |
| 10 | P/F of 18mm thick BWP ply panelling with 50m 50mm x16 gauge aluminium pipe framework @ 600 500 both way maximum, to receive stone on it, in a ocations like wall coves column nitches, etc & at a neights as per drawing and instruction at site by the architect. | Sqm | 714.00 | 28.20 | 742.20 | 2,960.00 | 98% | 21,09,330.2 |
| 11 ti | P/F Fabric panel for all locations, as per design/instruction from the architect at site with 12mm hick MDF & 32 density 25mm thick foam on existing surface complete as per drawing. Fabric to be supplied by the client free of cost by at site. | | 178.08 | - | 178.08 | 2,450.00 | 95% | 4,14,481.20 |
| 12 in | 7/F 4 mm thick figured Anegre Veneer (as per pproval of the architect) on existing panelling surface, wall/cove/nitch cladding complete with PU polish and mmx4mm grouve at all heights, etc as per drawing. | 1 | 272.69 | | 272.69 | 3,850.00 | 90% | 9,44,870.85 |
| В | ase Rate of Veneer is Rs. 110/- PER SFT F.O.R. ite from Green | | 77.7 | | | | | |
| P/ Si or be | /F 6mm thick bond metal sheet , from Form & urfaces , with approved adhesive and as per design nexisting wood surface at all height. Bond Metal to be supplied by client free of cost at site. | Sqm | | - | 0.00 | 1,500.00 | - | |
| 14 de ex | F 6mm thick edge polished design clear mirror with uter matel frame, Bevelling & V Groove as per sign/drawing, the Mirror to be firmly pasted on isting ply surfaces with neutral PH Silicon at all ights and locations. | | | - | 0.00 | 5,500.00 | - | |
| pol Ba | oving and fixing of 150mm high wooden skerting in isting ply surface with 6mmx4mm Grouve with Pulish and as per required and as per Drg se Rate of Veneer is Rs. 110/- PER SFT F.O.R. | Rmt | 41.35 | - | 41.35 | 1,150.00 | 75% | 35,664.38 |
| 311 | e from Green itel Works | | | | | | | |
| P/F of s and CN of t adh | 1.5 mm thick dull Bronze finish ss sheet in all type shape / form like equal/unequal channel, angle, stirp d plain surface with or without CNC bend but with C cutting as required as per drawing. The pasting this material shall be done with approved make of the sive/silicon. | sqm | 20.06 | | 20.06 | 10,500.00 | 80% | 1,68,504.00 |
| Pro | viding and fixing of 10x10mm Dule bronze matel in | Rmt | 697.22 | | 697.22 | 600.00 | 80% | 3,34,665.60 |

| SI.NO. | ITEM | UN | IT Q | uantity | | RATE | % | Amount |
|--------|--|----------|----------|-------------|-----------|-------------|-------|-------------|
| | | | Prev Qty | This Bill | Total Qty | 1 | 76 | Amount |
| | P/E Panguet Est. J. ac | | | Qty | | 5 Pro- | | |
| 18 | P/F Banquet Entry door 82mm thick, having both side 4mm thick figured anegre veneer & 82 x 10 mm thick Teakwood margin on all sides of door, finished in PU polish. The door is to be fabricated with Aluminium frame 50 x 50mm 16g @ 600mm C/C maximum, filled with glass wool and having 12 mm thick water proof pl on both side of the framework. The item is inclusive of BTS flooring spring from Dorma/Gaze for the required weight of door, 1800mm SS dull bronze finish H Handle & Dead Locks inclusive of 175 x 65 pu polished teak wood door frame/portal complete. | y Sqr | n 62.09 | - | 62.09 | 20,500.0 | 0 93% | 11,83,745.8 |
| | Base Rate of Veneer is Rs. 110/- PER SFT F.O.R | | | | | | | |
| 19 | Site from Green P/F Door 40mm thick both side veneer & 40 x 8 mm thick Teakwood margin on all sides of door finished in PU polish inclusive of matching PU polished Teak wood door frame width up to 200 x50 mm, the item is inclusive of moulding, beading as per drawing and 4nos SS hinges, door closer and mortice lock etc. | Sqm | 10.30 | | 10.30 | 20,500.00 | 93% | 1,96,369.5 |
| | Base Rate of Veneer is Rs. 110/- PER SFT F.O.R. | | | | | | | |
| 20 | P/F shaft door 36mm thick having one side veneer & one side laminate, 36 x 8 mm thick Teakwood margin on all sides of door finished in PU polish inclusive of matching PU polished Teak wood door frame 100 x 40 mm, the item is inclusive of moulding, beading as per drawing and 4nos SS hinges, LN key lock. | Sqm | 12.50 | | 12.50 | 13,500.00 | 93% | 1,56,937.50 |
| | Base Rate of Veneer is Rs. 110/- PER SFT F.O.R. Site from Green Furniture and storage Works | | | | | | | |
| 21 | P/M live counters with adequate horizontal & vertical aluminium frame with 18mm thick BWP ply on the frame. The ply to be finished with fixing of owners supplied free of cost Italian Marble on all sides and top inclusive of niches, skirting, etc. The work is inclusive of making holes/ cut-outs in ply & stone for services work and trap door as per requirement. Finished area to be measured for payment. | Sqm | 22.68 | - | 22.68 | 7,855.00 | 65% | 1,15,798.41 |
| | Paints Works | | | | | | | |
| 22 | Providing and applying coats Fire retardant paint on the back surface of the ply | Sqm | 1,190.90 | | 1190.90 | 140.00 | 100% | 1,66,726.00 |
| 23 | Providing and applying 3 coats of Acrylic Emulsion Paint of approved colour and shade to internal walls and ceiling after thoroughly sand papering surfaces to remove dust, dirt etc. and repairing dents, cracks, holes with POP to achieve level surface and finishing with two coats of primer, putty and three coats of paint including cost of material, labour, scaffolding etc. all complete as directed by the Engineer in charge. Rate to include application at all heights and levels, surfaces and textures. Engineer in charges' approval required after each coat. Tenderer to submit sample to the Engineer in charges for approval. Approved Make: Asian Paints, Jotun, Berger, | Sqm | 900.00 | | 900.00 | 275.00 | 60% | 1,48,500.00 |
| 24 a | P/A Special Texture Paints with Polyester coating over walls & ceilings on smooth base ready to receive application as per manufacturer's instruction in coats & sextures in selected colour & shade/ code BR Rs. 150/sqft WS Works | Sqm | | - | 0.00 | 1,850.00 | - | |
| F | P/Doing MS work above false ceiling & sliding folding | | | Enter | | | | |
| 25 a | ubular/pipe sections, etc in grid formation for ceiling russ, platforms, railings, ladders etc. All protected by | Kg | 4,209.01 | 0.00 | 4209.01 | 120.00 | 100% | 5,05,081.61 |
| | ivil Works | | | district in | | E I I I I I | | |

| SI.NO. | ITEM | UNIT | 0. | 10-414 | | | | |
|--------|--|------|----------|-------------|-----------|-----------|------|----------------|
| | | Juli | Prev Qty | This Bill | | RATE | 9 | 6 Amoun |
| | | | 419 | Qty | Total Qty | | | 1000000 |
| 26 | P/L Full Brick Masonry/Block Works with first class well-burnt bricks of designation 75, of any thickness ir superstructure for walls, pillars, steps, parapet, cabin and other similar locations etc. with well burnt good quality bricks of class designation 75 in cement morta 1:6 (1 cement: 6 sand) in true line, level and plumb including racking the joints, rubbing and cleaning the surface, with necessary scaffolding, curing etc. complete as directed and specified at all heights & levels. for all leads, lift including cost towards scaffolding complete. (THIS WORK IS IN CIVIL CONTRACTOR SCOPE) | ır | | | 0.00 | 7,500.0 | 0 | |
| 27 | Providing and Applying 12-15mm thick cement plaster on the wall of mix 1:6 (1 cement : 6 fine sand) to all types of RCC work (small or big)/ brick /stone surfaces in levels, line, plumb, steel travelled finished or as directed, including providing necessary bands, drip moulds, tapak, grooves (at the junctions of walls and ceiling, walls and frames for doors or windows, around skirting/dado or other locations) also providing and fixing chicken mesh at the junction of masonry & concrete joints, p/ mixing 100% virgin homopolymer polypropylene monofilament fibrous reinforcement (Stucco-bond) in cement mortar, as directed complete to the satisfaction of Engg in charge/ architect for all level and leads. The cost towards raking of brick joints/ hacking RCC surfaces, necessary curing, scaffolding etc. to be included in the rates. (THIS WORK IS IN CIVIL CONTRACTOR SCOPE) | | | | 0.00 | 300.00 | | |
| 28 | Providing and laying of cement concrete 1:4:8 (1 cement : 4sand : 8 stone aggregate) using 20mm graded aggregate for screeding over R.C.C. slab as per the detailed drawings including shuttering, at all levels and leads. (THIS WORK IS IN CIVIL CONTRACTOR SCOPE) | Cum | | | 0.00 | 8,500.00 | | |
| 29 | Providing and Laying scafolding Banquet, prefunction | | | | | | | |
| | , obby | Lot | 1.00 | - | 1.00 | 55,000.00 | 100% | |
| 30 | Providing and fixing of 12 mm thk ply on existing surface as per drawing | Sqm | 98.90 | | 98.90 | 1,650.00 | 95% | 1 55 005 = |
| 31 | Providing and placing veneer finish CMD Table size | | | | | | 0070 | 1,55,025.75 |
| 2 | 2900x900x750 as per drawing | Nos | 1.00 | | 1.00 | 75,000.00 | 85% | 63,750,00 |
| 32 F | Providing and placing laminate finish office Table | Noo | 105 | | | | | 00,700.00 |
| | 7230X/30X/30 as per drawing | Nos | 4.00 | - | 4.00 | 15,000.00 | 80% | 48,000.00 |
| 33 F | Providing and fixing gyp board on existing surface | Sqm | | 108.54 | 109.51 | | | |
| | | | | 100.54 | 108.54 | 650.00 | 100% | 70,551.00 |
| | Total Amount (Rs.) | | | BEEF OF THE | | | | |

| SN | Description | UNIT | A BILL E | | | | | |
|------|--|------|----------|--------------|------|----------|--------|-------|
| | Laying Italian Stone in Flooring including | ONT | NOS | L | В | Н | Total | |
| | Barid ,sill etc. laid on 30 to 35mm thick | | | | | | | |
| | Prefunction | Sqm | 2.00 | 57.40 | 0.05 | | | |
| | | | 2.00 | | 0.85 | 3.5 5.17 | 97.58 | 100 |
| | Banqute door | | 3.00 | 2.90 | 0.85 | | 4.93 | 3 |
| | | | 3.00 | 3.22 | 1.40 | | 13.52 | 2 |
| | | | | 2.14 | 1.00 | | 6.42 | |
| | corner | | 1.00 | 2.37 | 0.98 | | 2.32 | |
| | Toilet Entry | | 1.00 | 4.34 | 2.35 | | 10.20 | |
| | | | 1.00 | 2.65 | 4.60 | | 12.19 | |
| | Tringle Area | | 1.00 | 1.64 | 2.76 | | 4.53 | |
| | Less Column | | 0.50 | 9.00 | 5.60 | | 25.20 | RA |
| | Main Kitchen entry | | (1.00) | 1.10 | 1.72 | | (1.89) | |
| | | | 1.00 | 3.10 | 1.96 | | 6.08 | RA |
| (| Open Kitchen | | 1.00 | 1.20 | 1.77 | | 2.12 | 147 |
| | o por interior | | 1.00 | 17.00 | 6.16 | | 104.72 | |
| F | Back side door Entry | | 1.00 | 3.15 | 1.00 | | 3.15 | |
| - | Sack side door Entry | | 1.00 | 1.30 | 1.30 | | 1.69 | |
| - | | | 3.00 | 2.87 | 1.49 | | 12.83 | |
| - | | | 1.00 | 3.20 | 1.00 | | 3.20 | |
| - | | | 1.00 | 3.28 | 1.00 | | 3.28 | |
| - | Duret Ot-1 | | 1.00 | 3.55 | 3.15 | | | |
| - 10 | Guest Stair area door around | | 1.00 | 1.80 | 0.70 | | 11.18 | |
| - | | | 2.00 | 2.25 | 0.35 | | 1.26 | RA- |
| | | | 2.00 | 2.40 | 0.35 | | 1.58 | |
| 0 | out side | | 1.00 | 14.60 | 2.16 | | 1.68 | |
| | | | 3.00 | 14.60 | 0.30 | | 31.54 | |
| | | | 1.00 | 5.40 | 4.55 | | 13.14 | |
| IV | fain Gate Ramp | | 13.00 | 2.55 | 0.30 | | 24.57 | |
| | | | 1.00 | 2.55 | 1.20 | | 9.95 | |
| | | | 1.00 | 1.91 | | | 3.06 | |
| | | | 1.00 | 1.15 | 1.00 | | 1.91 | |
| | | | 12.00 | | 0.46 | | 0.53 | |
| | | | 1.00 | 0.30 | 0.30 | | 1.08 | |
| | | | 1.00 | 3.15 | 0.30 | | 0.57 | |
| | | | 1.00 | | 0.30 | - 12 | 0.95 | |
| | | | 2.00 | 2.20 | 0.30 | | 0.66 | |
| | | | 1.00 | 0.90 | 0.30 | | 0.54 | |
| | | | 1.00 | 3.30 | 0.40 | | 1.32 | |
| | | | | 2.35 | 0.30 | | 0.71 | |
| 18 | | | 1.00 | 3.15 | 0.30 | | 0.95 | |
| Op | pen to sky | | 1.00 | 2.25 | 0.30 | | 0.68 | |
| | The second secon | | 2.00 | 33.90 | 1.46 | | 98.99 | SE IN |
| OF | PEN TO SKY TOILET | | 2.00 | 5.80 | 1.45 | | 16.82 | |
| | ale | | | The state of | | | | 5 |
| Fe | male | | 1.00 (| 6.75 | 3.10 | | 20.93 | |
| | | | 1.00 | 7.10 | 3.80 | | 26.98 | |
| Ex | tarnal Side | | | | | | | Ra-16 |
| | ade 6 7 | | 1.00 | 12.00 | 3.18 | | 38.16 | / / / |
| Ris | | | 1.00 | 12.00 | 0.41 | | 4.92 | |
| | irting | | 2.00 | 12.00 | 0.30 | 15-20 18 | 7.20 | |
| | | | 2.00 | 7.30 | 0.30 | | 1.20 | |

| SN | Description | UNIT | Nos | L | В | ш | | |
|--------|---|-------------|------|--------|----------|--|--------------|-------|
| | | | 1.00 | 8.25 | | 30 H | Total | - |
| State. | | | 3.00 | 0.95 | 1 | 30 | 2.48 | 1 |
| | Total | Sqm | 0.00 | (0.30 | (| 30 | 0.86 | 5 |
| | Less Previous | | | | | | 641.60 | 5 |
| 010 | This Bill | | | | | | 583.61 | 1 |
| | | | | | | | 57.99 | Y |
| 2.00 | Empradoor laid on 30 to 35mm thick cement mortar | Sqm | 1.00 | 55.70 | 2. | 91 | 162.09 | RA-8 |
| | Rear side | | 1.00 | 29.55 | 3. | 17 | 93.67 | RA-1 |
| | | | 1.00 | 5.20 | | 37 | 12.32 | IVA-1 |
| 1 | Open to Sky | | 1.00 | 33.90 | | 90 | 98.31 | RA-1 |
| | Total | | | | | | 366.39 | IVA-1 |
| | Less Previous | 1 | | | | | 366.39 | |
| | This Bill | E 85 5 | | | | | 0.00 | |
| 3.00 | Laying Commercial tile flooring for Banquet hall ,for the sub base of the Carpet | | | | | | | |
| | Banquet Hall | Sqm | 1.00 | 16.50 | 32. | 7.5 | | |
| 308 | | oqiii | 2.00 | 1.07 | 2. | | 540.38 | |
| | JC | Calaba Sala | 1.00 | 8.14 | | | 5.93 | |
| 2,46 | | | 1.00 | 1.80 | 3.0 | The state of the s | 24.42 | 545 |
| | | | 1.00 | 1.10 | 0.8 | | 3.69 0.94 | |
| | | | | | | | 0.94 | |
| | Less Previous | | | | | | 575.35 | RA-9 |
| | This Bill | | | | | | 575.35 | |
| | | | | | IN STATE | | (0.00) | |
| 4.00 | fixing Italian Stone in Wet Wall Cladding including SS clamps & fastener as per requirement/ architects instruction with book match grains as shown in the drawing at all heights, laid with 30 to 35mm thick cement mortar (1 white cement: 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment (MARBLE TO BE SUPPLIED BY CLIENT | | | | | | | |
| | Prefuction | Sqm | 1.00 | 2.82 | | 6.50 | 18.33 | |
| | Elevation A | | 2.00 | 0.96 | 3012 | 4.11 | 7.89 | |
| | | | 1.00 | 0.30 | 245 | 4.11 | 1.23 | |
| | | | 1.00 | 4.11 | | 4.11 | 16.89 | |
| | | | 1.00 | 2.40 | bagg la | 4.11 | 9.86 | |
| | | | 1.00 | 4.10 | | 4.11 | 16.85 | |
| | | | 1.00 | 0.30 | | 4.10 | 1.23 | |
| | | | 2.00 | 0.96 | | 4.11 | 7.89 | |
| | | | 1.00 | 2.43 | | 4.11 | 9.99 | - |
| | | | 2.00 | 0.96 | 2.12 | 4.10 | 7.87 | |
| | | 3-1-1-1 | 1.00 | 2.37 | 375 | 4.10 | 9.72 | |

| SN | Description | UNIT | Nos | L | В | Н | Total | |
|----|--|------|--------|-------|-------|---|-----------------|---------|
| | | | 1.00 | 2.43 | | 4.11 | 9.99 | 14 -05 |
| | | | 2.00 | 0.96 | | 4.11 | 7.89 | 7/1 |
| | | | 1.00 | 2.10 | | 4.11 | 8.63 | Dec. |
| | | | 2.00 | 0.99 | | 4.11 | 8.14 | |
| | | | 1.00 | 0.30 | | 4.11 | 1.23 | -0- |
| | | | 1.00 | 0.30 | | 4.11 | 1.23 | |
| | | | 1.00 | 29.76 | | 2.65 | 78.86 | |
| | | | 1.00 | 13.51 | | 6.60 | 89.17 | |
| | | | 1.00 | 12.74 | | 5.05 | 64.34 | |
| | | | 1.00 | 7.22 | | 1.55 | 11.19 | RA |
| | Side | | 4.00 | 0.30 | | 4.25 | 5.10 | RA |
| | Less opening | | (1.00) | 1.97 | | 4.25 | (8.37) | - 10 |
| | | | (1.00) | 2.80 | | 4.25 | (11.90) | |
| 1 | The State of the S | | (1.00) | 1.20 | OF SE | 2.40 | (2.88) | 11 11 |
| | Elevation B column | | 1.00 | 1.36 | | 6.60 | 8.98 | |
| | | | 1.00 | 1.70 | | 6.60 | 11.22 | |
| | | | 1.00 | 1.10 | | 6.60 | 7.26 | |
| | | | 1.00 | 3.47 | | 6.60 | 22.90 | |
| | Less Door | | (1.00) | 1.20 | | 2.40 | (2.88) | 700 5 |
| | Corner | | 1.00 | 2.48 | | 6.60 | 16.37 | RA |
| | Stair side | | 1.00 | 5.59 | | 6.60 | 36.89 | RA |
| | Less Door | | (1.00) | 1.20 | HEE | 2.40 | (2.88) | |
| | Rear Side | | 6.00 | 3.07 | | 5.25 | 96.71 | RA |
| | | | 6.00 | 1.53 | | 5.25 | 48.20 | |
| | Side | | 11.00 | 0.25 | | 5.25 | 14.44 | |
| | | | 1.00 | 7.45 | | 4.25 | 31.66 | D.4 |
| | Less | | (1.00) | 1.20 | | 2.40 | | RA- |
| | Side | | 10.00 | 1.00 | | 4.25 | (2.88) 42.50 | |
| | | | 1.00 | 3.27 | | 4.25 | | |
| | | | 1.00 | 3.02 | | 4.25 | 13.90 | |
| | | | 1.00 | 4.30 | | 4.25 | 12.84 | |
| | Less Door | | (1.00) | 0.80 | | 200000000000000000000000000000000000000 | 18.28 | diffus. |
| | | | 1.00 | 0.64 | | 2.40 | (1.92) | |
| | | | 1.00 | 2.20 | | 5.25 2.85 | 3.36 | RA- |
| | | | 1.00 | 2.50 | | 5.25 | 6.27 | |
| | Kitchen Entry | | 1.00 | 3.10 | | | 13.13 | |
| | | | 1.00 | 0.85 | | 4.25 | 13.18 | |
| | | | 1.00 | 1.22 | | 4.25 | 3.61 | |
| | | | 1.00 | 1.33 | | 4.25 | 5.19 | |
| | | | 1.00 | 1.20 | | 4.25 | 5.65 | |
| | | | 1.00 | 1.77 | | 4.25 | 5.10 | |
| | Less | | (1.00) | 1.60 | | 4.25 | 7.52 | |
| | | | 1.00 | 1.22 | | 2.40 | (3.84) | |
| | Kitchen Entry | | 1.00 | | | 4.25 | 5.19 | |
| | | | 1.00 | 1.74 | | 4.25 | 7.40 | RA-1 |
| | | | | 2.00 | | 4.25 | 8.50 | |
| | | | 1.00 | 3.65 | M BAR | 4.25 | 15.51 | |
| | Less | | 1.00 | 1.95 | | 4.25 | 8.29 | |
| | | | (1.00) | 1.80 | | 2.35 | (4.23) | |
| | Back Side | | 1.00 | 1.46 | | 4.25 | 6.21 | |
| 45 | | | 1.00 | 2.65 | | 1.85 | 4.90 | art de |

| SN | Description | UNIT | Nos | Banquet I | В | Н | T-4-1 | |
|--------|--|---------|------------|--------------|--------|--------------|----------|------|
| | | | 1.00 | 2.82 | | 2.40 | Total | |
| | Less | | (1.00) | | | | 9.7.1 | R |
| | | | 1.00 | 2.23 | | 2.25 | () | |
| 11.00 | | DE SYRI | | / 2.20 | | 2.25 | 5.02 | |
| (O.A. | Open to sky side colum | 100000 | 4.00 | 5.29 | / | 6.60 | 100.00 | R |
| | Toilet | | 5.00 | 1.00 | 1 | 6.60 | 139.66 | (|
| | | 457 | 5.00 | 4 1.00 | | 1.30 0.30 | 6.50 | 5 |
| | | | 1.00 | 2.50 | - | 3.10 | 1.50 | (|
| | Total | Sqm | | 1 2.00 | | 3.10 | 7.75 | (|
| | Less Previous | | SYSTAL | Old Door on | | | 1,017.47 | |
| | This Bill | | Target St. | | | | 862.06 | |
| 6.00 | Same as above but using approved chemical adhesive , in place of cement mortar on existing ply surface | | | | | | 155.41 | |
| | Vertical | Sqm | 16.00 | 0.55 | | 6.65 | 58.52 | |
| | | | 2.00 | 0.30 | | 6.65 | 3.99 | |
| | | | 18.00 | 0.35 | | 6.40 | 40.32 | |
| | Hairanti | | 18.00 | 0.35 | | 6.10 | 38.43 | |
| | Horizontal | | 4.00 | 0.32 | | 5.38 | 6.89 | |
| | | | 4.00 | 0.35 | | 4.88 | 6.83 | |
| | | | 4.00 | 0.35 | | 4.28 | 5.99 | |
| | | | 4.00 | 0.32 | | 3.25 | 4.16 | |
| | | | 4.00 | 0.35 | | 2.76 | 3.86 | |
| | Horizontal | | 4.00 | 0.35 | | 2.15 | 3.01 | |
| 1 | Horizoniai | | 1.00 | 0.32 | | 12.32 | 3.94 | |
| | | | 1.00 | 0.35 | | 11.80 | 4.13 | - |
| | Door portal | | 1.00 | 0.35 | | 11.20 | 3.92 | |
| | Bottam | | 12.00 | 0.44 | | 3.95 | 20.86 | |
| | out side | | 6.00 | 0.30 | MEL SA | 2.64 | 4.75 | |
| | Top | | 6.00 | 0.30 | | 3.23 | 5.81 | _ |
| | Тор | | 3.00 | 0.30 | | 3.23 | 2.91 | |
| | | | 3.00 | 0.30 | | 3.00 | 2.70 | |
| | | | 12.00 | 0.30 | | 6.60 | 23.76 | |
| | Rear Side | | 6.00 | 0.30 | | 3.23 | 5.81 | |
| | Lobby Column | | 6.00 | 0.20 | | 3.95 | 4.74 | |
| | , | | 4.00 | 1.48 | | 6.50 | 38.48 | |
| | | | 4.00 | 1.01 | | 6.50 | 26.26 | |
| | | | 1.00 | 2.80 | | 6.50 | 18.20 | |
| | | | 1.00 | 1.00 | | 6.50 | 6.50 | |
| | CMD office | | 1.00 | 4.34 | | 6.50 | 28.21 | |
| | | | 1.00 | 0.90 | | 4.25 | 3.83 | |
| | | | 1.00 | 0.87 | | 4.25 | 3.70 | |
| | | | 2.00 | 1.07 | | 4.25 | 4.55 | |
| | | | 1.00 | 0.70 | | 4.25 | 5.95 | |
| | Less | | (1.00) | 2.25 | | 4.25 | 9.56 | RA-7 |
| | Jamb | 12.00 | 2.00 | 1.12 | | 3.22 | (3.61) | |
| | | | 1.00 | 0.38 | | 3.22 | 2.45 | T |
| | | | | 0.38 | | 1.12 | 0.43 | |
| | Less | | 1.00 | 1.97 | | 4.25 | 8.37 | |
| | Jamb | - | (1.00) | 1.12 0.38 | | 3.22 | (3.61) | 515 |

| SN | Description | UNIT | Nos | L | | | Harris and the same of the sam | |
|------|--|---------|--------|-------|------|------------|--|------|
| | | O. III. | 1.00 | | В | Н | Total | |
| | Open Kitchen | | 1.00 | 0.38 | | 1.12 | 0.43 | RA- |
| | Less | | (7.00) | 17.20 | | 4.15 | 71.38 | |
| | Lobby | | 1.00 | 3.15 | | 1.63 | (35.94) | |
| F.Ab | | | | 3.01 | | 1.40 | 4.21 | 1100 |
| | Lift wall | | 1.00 | 2.40 | | 0.38 | 0.91 | |
| | | | 1.00 | 2.10 | | 6.85 | 14.39 | RA-1 |
| | External column | | 2.00 | 1.72 | | 6.85 | 11.78 | |
| | | | 2.00 | 3.15 | | 6.65 | 41.90 | |
| | | Sqm | 2.00 | 6.65 | | 6.65 | 88.45 | |
| | Less Previous | Oqiii | | | | | 604.55 | |
| | This Bill | | | | | | 604.55 | |
| | | | | | | | (0.00) | |
|) | P/F Gypsum Board false ceiling using 2 | | | | | | | |
| 7.00 | number of 12mm thick gyphoard in | | | | | | | |
| 7.00 | horizontal, vertical, coves & niches using | | | | | | | |
| | gypsum ultra GI suspension system as nor | | | | | | | |
| | Banquet Hall | | | | | | | |
| | Side Patta | | | | | | | |
| | | Sqm | 2.00 | 32.33 | 2.05 | | 132.55 | |
| | | Sqm | 1.00 | 12.30 | 2.30 | | 28.29 | _ |
| | | Sqm | 3.00 | 12.30 | 2.05 | | 75.65 | |
| | | Sqm | 6.00 | 12.50 | 0.75 | | 56.25 | |
| | | Sqm | 6.00 | 7.00 | 0.75 | | 31.50 | |
| | Patta Ac Grill | Sqm | 3.00 | 11.30 | 7.10 | | 240.69 | |
| | Tutta Ac Gilli | Sqm | 4.00 | 30.40 | 0.15 | | 18.24 | |
| | Cove | Sqm | 8.00 | 11.00 | 0.15 | | 13.20 | - |
| | Cove | Sqm | 6.00 | 8.20 | 0.30 | | 14.76 | |
| | Vertical | Sqm | 6.00 | 7.00 | 0.30 | 700 | 12.60 | |
| | vertical | Sqm | 6.00 | 8.20 | 0.40 | | 19.68 | - |
| | Cove | Sqm | 6.00 | 7.00 | 0.80 | | 33.60 | |
| | cove | Sqm | 6.00 | 12.20 | 0.30 | | 21.96 | |
| | Vertical | Sqm | 6.00 | 11.00 | 0.30 | | 19.80 | |
| - | vertical | Sqm | 6.00 | 12.20 | 0.40 | | 29.28 | |
| | In side Patta | Sqm | 6.00 | 11.00 | 0.80 | | 52.80 | |
| | side i atta | Sqm | 6.00 | 3.15 | 0.25 | 1500 | 4.73 | |
| | | | 6.00 | 8.00 | 0.25 | | | _ |
| _ | Total | Sqm | | | 0.23 | 100 | 12.00 | |
| I | Less Previous | Jqiii | | | | | 817.57 | |
| 7 | This Bill | | 100 | | | | 817.57 | |
| | | | | | | | 0.00 | |
| | Prefunction Lobby Side | Sam | | | | | | |
| | | Sqm | 2.00 | | | | | |
| | | Sqm | 2.00 | 48.75 | 1.00 | | 97.50 | |
| F | Patta Ac Grill | Sqm | 1.00 | 48.75 | 2.95 | | 143.81 | |
| | Vertical | Sqm | 4.00 | 48.75 | 0.15 | | 29.25 | |
| | Cove | Sqm | 2.00 | 48.75 | 0.20 | | 19.50 | |
| | | Sqm | 2.00 | 48.75 | 0.30 | List Sale | 29.25 | |
| - | | Sqm | 2.00 | 2.65 | 0.30 | | 1.59 | |
| 1 | /2xlxb (8x6.5/2) | Sqm | 1.00 | 3.85 | 3.50 | | 13.48 | |
| | | Sqm | 1.00 | 4.00 | 6.50 | DOMESTICS. | 26.00 | |

36100 1 74.88

12+3 - hobby.

3×7.8×3.2- Bandyet Hall-S. Curing.

| SN | Description | UNIT | Nos | L | В | Н | Total | |
|------------|--|-------------|--------|--------|----------|--------|----------|------|
| 7 | Pagis Cid. B. C. | | | | | | Total | |
| | Back Side Prefunction | Sqm | 1.00 | 37.89 | 3.30 | | 125.04 | |
| | Cour | | 1.00 | 3.22 | 0.55 | | 1.77 | |
| A STATE OF | Cove | | 2.00 | 29.56 | 0.15 | | 8.87 | |
| | | | 4.00 | 29.56 | 0.05 | | | |
| | | | 2.00 | 3.30 | 0.95 | | 5.91 | |
| _ | Cove | | 2.00 | 29.56 | 0.15 | | 6.27 | |
| | | | 8.00 | 0.55 | 1.70 | | 8.87 | |
| - | | | 16.00 | 1.60 | 0.10 | | 7.48 | |
| | | | 16.00 | 1.60 | 0.15 | | 2.56 | |
| | | | 16.00 | 1.60 | 0.10 | | 3.84 | RA- |
| | | IN THE REAL | 1.00 | 4.80 | 5.50 | | 2.56 | RA- |
| | Vertical | | 1.00 | 4.80 | 1.55 | | 26.40 | RA- |
| - | Wall | | 1.00 | 5.92 | 6.60 | | 7.44 | |
| _ | Wall | | 1.00 | 5.35 | 6.60 | | 39.07 | |
| | Back side vertical wall | | 1.00 | 30.00 | 0.75 | | 35.31 | RA- |
| | Show kitchen area | | 1.00 | 18.60 | 6.05 | | 22.50 | RA-1 |
| | Less | | (1.00) | 1.40 | 1.00 | | 112.53 | RA-1 |
| | | | (2.00) | 0.90 | 0.30 | | (1.40) | 199 |
| | Hood | | (1.00) | 3.60 | | | (0.54) | |
| | Vertical | | 2.00 | 3.60 | 1.00 | | (3.60) | |
| | | | 2.00 | 1.00 | 1.50 | | 10.80 | |
| | | | 1.00 | | 1.50 | | 3.00 | |
| | Total | Sqm | 1.00 | 18.60 | 5.15 | | 95.79 | |
| | Less Previous Qty | oqiii | | | | | 880.85 | |
| | This Bill Qty | | | | | | 880.85 | |
| -81 | | | | | | | (0.00) | |
| | P/F of 12mm thick commercial ply panelling | | | | | | | |
| 9.00 | with 50m x 50mm x16 gauge aluminium pipe | CE | | | | | | |
| | | Sft | | | | | | |
| | framework @ 600 x 600 both way maximum, | | | | | | | |
| | Elevation A&B | | | | | | | |
| | Elevation C | Sqft | 2.00 | 106.04 | | 22.00 | 4,665.76 | |
| | Side | Sqft | 1.00 | 54.08 | | 22.00 | 1,189.83 | |
| | Less Door Opening | Sqft | 1.00 | 3.58 | | 22.00 | 78.76 | |
| | Total | Sqft | (6.00) | 8.66 | | 13.00 | (675.48) | |
| | Total | Sqft | | | | | 5,258.87 | |
| | Total | Sqm | | | | | 488.74 | |
| | | | | | | | 400.74 | |
| 1 | P/F of 18mm thick BWP ply panelling with | - 0 | | | | | | |
| 0.00 | 50m x 50mm x16 gauge aluminium pipe | | | | Editor I | HALL B | | |
| f | framework gauge aluminum pipe | | | | | | | |
| | Portal | | | | 31,500 | | | |
| | Vertical | Sqm. | 19.00 | 0.20 | | | | |
| | | Sqm. | 18.00 | 0.28 | 6.65 | | 32.92 | |
| | | Sqm. | | 0.35 | 6.30 | | 39.69 | |
| | Cove | Sqm. | 18.00 | 0.35 | 6.00 | | 37.80 | |
| | | Sqm. | 18.00 | 0.22 | 6.60 | | 26.14 | |
| | | | 18.00 | 0.16 | 6.30 | | 18.14 | |
| | Horizontal | Sqm. | 18.00 | 0.08 | 6.00 | | 8.10 | |
| | | DUID | 4.00 | 2.75 | 0.28 | | 3.08 | |

| SN | Description | UNIT | Nos | L | | T | 1 | |
|-----|--|------|--------|-------|------|---------|---------------|--|
| | | Sqm. | 4.00 | 2.15 | B | Н | Total | |
| | | Sqm. | 4.00 | 1.50 | | | 3.0 | |
| | Horizontal cove | Sqm. | 4.00 | 2.85 | | | 2.1 | |
| | | Sqm. | 4.00 | | | | 2.5 | |
| | | Sqm. | 4.00 | 2.25 | | | 1.3 | |
| | Horizontal | Sqm. | | 1.60 | | | 0.4 | |
| | | Sqm. | 4.00 | 4.85 | | | 5.4 | 3 |
| | | | 4.00 | 4.15 | | | 5.8 | 1 |
| -nº | Horizontal cove | Sqm. | 4.00 | 3.45 | | | 4.8 | 3 |
| | THE THE TENTE OF T | Sqm. | 4.00 | 4.95 | | | 4.3 | 6 |
| 2 1 | | Sqm. | 4.00 | 4.25 | | | 2.5 | 5 |
| | Stage Wall Horizontal | Sqm. | 4.00 | 3.55 | | | 1.0 | 7 |
| | otage wan nonzontal | Sqm. | 1.00 | 10.12 | | | 2.8 | 3 |
| | | Sqm. | 1.00 | 9.43 | | | 3.3 | 0 |
| | Cove | Sqm. | 1.00 | 8.75 | | | 3.0 | 6 |
| - 1 | Cove | Sqm. | 1.00 | 10.22 | | | 2.2 | 5 |
| | | Sqm. | 1.00 | 9.53 | | | 1.4 | 3 |
| | Door Jamb | Sqm. | 1.00 | 8.85 | 0.08 | | 0.66 | 3 |
| | 2001 Jamb | Sqm. | 12.00 | 0.40 | 3.95 | | 18.96 | |
| | | Sqm. | 6.00 | 0.40 | 2.65 | | 6.36 | |
| | | Sqm. | 6.00 | 0.30 | 4.25 | | 7.65 | |
| | Column | Sqm. | 3.00 | 0.30 | 3.25 | | 2.93 | and the same of th |
| | Coldilli | Sqm. | 4.00 | 1.40 | 6.65 | | 37.24 | |
| | Lift Wall | Sqm. | 4.00 | 0.90 | 6.65 | | 23.94 | |
| | LIIT Wall | Sqm. | 1.00 | 11.75 | 6.65 | | 78.14 | |
| | D 6 | Sqm. | (4.00) | 1.05 | 2.10 | | (8.82 | |
| | Pre fuction | Sqm. | 2.00 | 1.00 | 6.60 | | 13.20 | |
| - | | Sqm. | 1.00 | 2.80 | 6.60 | | 18.48 | |
| | | Sqm. | 1.00 | 4.34 | 6.60 | | 28.64 | |
| | | | 2.00 | 0.45 | 6.60 | | 5.94 | |
| - | Banquet Hall | | 1.00 | 18.62 | 4.45 | | 82.86 | - |
| - | Less | | (7.00) | 1.65 | 2.40 | | | |
| _ | cove | | 7.00 | 10.00 | 0.15 | | (27.72) | |
| _ | Pre function | | 1.00 | 1.10 | 4.25 | | 10.50 4.68 | |
| - | Banquet Hall | | 2.00 | 3.15 | 1.85 | | 100000 | |
| - | Laurence (Production | | 1.00 | 2.70 | 4.25 | | 11.66 | |
| - | Less door | | (1.00) | 1.20 | 2.40 | - 4/1.2 | 11.48 | |
| - | | | 1.00 | 3.01 | 1.40 | | (2.88) | |
| - | | | 1.00 | 2.40 | 0.38 | | 4.21 | |
| _ | Lobby | | 2.00 | 1.20 | 6.60 | | 0.91 | |
| - | Ceiling Toilet and kitchen entry | | 2.00 | 0.35 | 2.50 | | 15.84 | |
| (| Open Kitchen Area | | 2.00 | 2.00 | 3.15 | | 1.75 | RA-1 |
| - | | | 2.00 | 1.05 | | | 12.60 | |
| | | | 1.00 | 1.25 | 1.05 | | 2.21 | |
| L | .ess | | (1.00) | | 4.30 | | 5.38 | |
| | | | 2.00 | 1.20 | 2.40 | | (2.88) | L LILIE |
| E | xtarnal Column Lobby | | | 0.70 | 4.30 | | 6.02 | |
| | | | 2.00 | 6.30 | 6.70 | | 84.42 | RA-1: |
| E | xtarnal Column open to sky | | 2.00 | 3.60 | 6.70 | | 48.24 | |
| T | , | | 2.00 | 1.02 | 6.65 | (| 13.57 | (RA-16 |
| | | | 1.00 | 2.20 | 6.65 | (| 14.63 | / |

| SN | Description Total Qty | UNIT | Nos | L | В | Н | Total | |
|-------|--|----------|--------|-------|---------|------|----------------|----|
| 100 | | Sqm | | | | | 743.01 | |
| | Less Previous Qty This Bill Qty | Sqm | | | | | 714.81 | |
| | This Bill Qty | Sqm | | | | | 28.20 | 1 |
| | D/E Eabria panel for all I | | | | | | | |
| 11.00 | P/F Fabric panel for all locations, as per design/instruction from the architect at site | | 4.00 | 3.65 | | 5.60 | 81.76 | |
| | | | 4.00 | 1.55 | | 5.60 | 24.72 | |
| | | Fig. 15 | 1.00 | 11.00 | | 5.60 | 34.72 | |
| - 10 | Total | Sqm | | 11.00 | | 3.00 | 61.60 | |
| | Less Previous Qty | | 1000 | | | | 178.08 | |
| | This Bill Qty | | | | | | 178.08 | |
| .2.00 | P/F 4 mm thick figured Anegre Veneer (as per approval of the architect) on existing panelling surface, | Sqm | 1.00 | 1.80 | 6.60 | | 11.88 | |
| | Banquet | | 6.00 | 2.65 | 2.65 | | 12.14 | |
| | Pre Function | | 1.00 | 10.78 | 6.45 | | 42.14 69.53 | DA |
| | Less Door | | (1.00) | 1.04 | 2.25 | | | RA |
| | | | (2.00) | 0.60 | 2.25 | | (2.34) | |
| | | | (1.00) | 1.20 | 2.25 | | (2.70) | |
| | | | 3.00 | 3.22 | 0.96 | | (2.70) | |
| | | | 2.00 | 2.14 | 1.00 | | 9.27 | |
| | | | 1.00 | 2.37 | 1.00 | | 4.28 | |
| | | | 1.00 | 2.12 | 1.00 | | 2.37 | |
| | Toilet Entry | ELIVER N | 1.00 | 3.37 | 1.00 | 4.20 | 2.12 | |
| | | | 1.00 | 2.70 | | 4.30 | 14.49 | |
| | Less Door | | (1.00) | 1.05 | | 2.40 | 11.61 | |
| | | | (1.00) | 1.20 | | 2.40 | (2.52) | |
| - | | | 1.00 | 4.70 | | 4.30 | (2.88) | |
| | | | 1.00 | 3.90 | | 4.30 | 20.21 | |
| l | Less Door | | (1.00) | 1.00 | | 2.40 | 16.77 | |
| | | | (1.00) | 0.80 | | 2.40 | (2.40) | |
| | | | 1.00 | 10.00 | | 2.40 | (1.92) | |
| | Back side Prefunction | | 1.00 | 6.23 | | 4.25 | 24.00 | |
| L | Less Door | | (2.00) | 0.90 | | 2.25 | (4.05) | |
| _ | | | (1.00) | 0.81 | | 2.25 | (1.82) | |
| | Cove | Sqm. | 16.00 | 0.10 | | 6.60 | 10.56 | |
| | | Sqm. | 16.00 | 0.10 | | 6.30 | 10.08 | |
| | | Sqm. | 16.00 | 0.10 | | 6.00 | 9.60 | |
| | Horizontal cove | Sqm. | 4.00 | 2.85 | | 0.10 | 1.14 | - |
| - | | Sqm. | 4.00 | 2.25 | | 0.10 | 0.90 | |
| | | Sqm. | 4.00 | 1.60 | PH-SI-P | 0.10 | 0.90 | |
| | Cove | Sqm. | 1.00 | 10.22 | | 0.10 | 1.02 | |
| | | Sqm. | 1.00 | 9.53 | | 0.10 | 0.95 | |
| - | | Sqm. | 1.00 | 8.85 | | 0.10 | 0.89 | |
| | Horizontal cove | Sqm. | 4.00 | 4.95 | | 0.10 | 1.98 | |
| | | Sqm. | 4.00 | 4.25 | | 0.10 | 1.70 | |
| - | atal Ot. | Sqm. | 4.00 | 3.55 | | 0.10 | 1.42 | |
| | otal Qty | Sqm | | | HE ST | | 272.69 | |
| LE | ess Previous Qty | | | | | | 272.03 | |

| SN | Description | UNIT | Nos | L | В | Н | Total | Harri |
|-----------|---|---------------|--------------|-------|------------|-----------|--------|--------|
| | This Bill Qty | | | | | | 0.00 | |
| | | | | | | 4 6 7 9 1 | | |
| | Proving and fixing of 150mm high wooden | | | | Harris S. | | | |
| 15.00 | skerting in existing ply surface with | | | | | | | |
| | 6mmx4mm Grouve with Pu polish and as per required and as per Drg | | | | | | | |
| | por required and as per blg | Rmt | 11.00 | 0.95 | | | | |
| | | MILL | 4.00 | 3.60 | | | 10.45 | |
| | | | 4.00 | 1.45 | | | 14.40 | |
| 53.20 | | | 1.00 | 10.70 | | | 5.80 | |
| | Total Qty | | 1.00 | 10.70 | | | 10.70 | |
| | Less Previous Qty | | | | | | 41.35 | |
| | This Bill Qty | | | | | | 41.35 | |
| 16.00 | D/E 15 mm thick dull Drame fairle | | | | | | | |
| 16.00 | sheet in all type of shape | | | | | | | |
| | Banquet Door around | Sqm | 24.00 | 4.00 | 0.16 | | 14.88 | RA-1: |
| | | | 24.00 | 1.35 | 0.16 | | 5.18 | 11/1/1 |
| | Total | 1000 | | | | | 20.06 | |
| | | | | | | | 20.00 | |
| 47.00 | Providing and fixing of 10x10mm Dule | 6 P. P. S. S. | | | | | | |
| 17.00 | The mater in Book Stratter and Book | | | | | | | |
| Y = 1.57L | match pattern and as per Drg Banquet Fabric T | D . | | | | | | |
| | banquet rabile i | Rmt | 56.00 | 2.90 | | | 162.40 | RA-1 |
| | | | 42.00 | 2.75 | | | 115.50 | |
| | | | 72.00 | 3.00 | | | 216.00 | |
| | L Corner 10x10mm | | 32.00 | 2.50 | | | 80.00 | |
| | E COITIEF TOXTOMM | | 12.00 | 3.26 | 1214 | | 39.12 | |
| | | | 6.00 | 2.20 | | | 13.20 | |
| | | | 2.00 | 2.50 | | | 5.00 | |
| | Total | - Sec. 2015 | 22.00 | 3.00 | | | 66.00 | |
| | Total | | | | | | 697.22 | |
| | P/F Banquet Entry door 82mm thick, | | | | | | | |
| - | having both side 4mm thick figured anegre | | | | | | | |
| 3.00 | veneer & 82 x 10 mm thick Teakwood | Sgm | 6.00 | 2.62 | | 3.95 | 63.00 | |
| | margin on all sides of door, finished in PU | | 0.00 | 2.02 | | 3.95 | 62.09 | |
| | polish. | | Sing Sing | | | | | |
| | Less Previous Qty | Sqm | | | | | 62.09 | DE S |
| 2 22 | This Bill Qty | Sqm | | | | m ini i | 0.00 | |
| | P/M live counters with a law at 1 | | | | | E YES | | 231113 |
| | P/M live counters with adequate horizontal & vertical aluminium frame with 18mm | | | | | | | |
| 21.00 | thick BWP ply on the frame. The ply to be | Sqm | | | | | | |
| | finished with fixing of owners supplied free | 34111 | | | | | | |
| | 3 3 5 5 F 10 6 10 6 10 6 10 6 10 6 10 6 10 6 10 | | | | | | | |
| - 08 | | | 6.00 | 3.60 | A SECTION | 1.05 | 22.68 | |
| | | | | | | | 22.00 | |
| | | | W. Cappeller | | | | | |
| | Providing and applying coats Fire | | | | | | | |
| 22.00 | retardant paint on the back surface of the | | | | | | | |
| | ply. | | | | | | | |
| | Qty As Per Item 9 | Sqm | | 1398 | | T Total B | 488.74 | |
| | Qty As Per Item 10 | Sqm | | | S P. P. P. | 1 200 | 743.01 | |

| SN | Description | UNIT | Nos | L | В | Н | Total | TIE |
|---------|---|------------|-------|--------------|-----------|----------------------|---------------|--------|
| X 5 % = | Qty As Per Item 18x2 Banquet door | Sqm | | | | | 120.00 | |
| | Total | Sqm | | | | | 1,351.75 | |
| | Less Previous Qty | Sqm | | | | | 1,323.56 | |
| - 1 | This Bill Qty | Sqm | | | | | 28.19 | |
| O Sta | | | | | | | | |
| 25.00 | P/Doing MS work above false ceiling & sliding folding partitions & other locations as required with ISMB, tubular/pipe sections, etc in grid formation for ceiling truss, platforms, railings, ladders etc. All protected by applying a primer coat of approved steel primer and painted with two or more coats synthetic enamel paint to approved shade fixed together with bolts/plates etc. complete as per specification. | | | | | Unit Wt. (Kg/Mtr) | | |
| | Pipe 3"x1"x2mm thick | | | | | | | |
| | Projector side Vertical | | 6.00 | 2.30 | | 2.90 | 40.02 | |
| | | | 5.00 | 1.69 | 5.11.2 | 2.90 | 24.51 | |
| | Horizontal | | 6.00 | 2.05 | | 2.90 | 35.67 | |
| Table 1 | | | 4.00 | 1.00 | | 2.90 | 11.60 | |
| | | | 1.00 | 0.50 | ELE II | 2.90 | 1.45 | E 3 |
| | Angle 50x50x5mm | | 6.00 | 0.15 | | 3.80 | 3.42 | |
| | Тор | | 11.00 | 0.15 | | 2.90 | 4.79 | |
| | | | 2.00 | 12.00 | | 2.90 | 69.60 | u isla |
| | Angle for Joint | | 2.00 | 0.15 | | 3.80 | 1.14 | 455E |
| 941.5 | Left Side Support | | 1.00 | 2.10 | | 2.90 | 6.09 | |
| | | E N. LOSSE | 1.00 | 2.30 | | 2.90 | 6.67 | |
| | | | 1.00 | 1.75 | | 2.90 | 5.08 | ta si, |
| | | | 1.00 | 2.35 | | 2.90 | 6.82 | |
| | | | 1.00 | 2.00 | | 2.90 | 5.80 | |
| | | | 1.00 | 1.55 | | 2.90 | 4.50 | |
| | | | 1.00 | 2.30 | | 2.90 | 6.67 | 11 3 3 |
| | | | 1.00 | 1.80 | In a last | 2.90 | 5.22 | |
| | | Mark of | 1.00 | 2.26 | | 2.90 | 6.55 | -4-3- |
| | | | 1.00 | 1.80 | | 2.90 | 5.22 | |
| - | Harten and | | 2.00 | 1.85 | | 2.90 | 10.73 | |
| | Horizontal | | 11.00 | 2.00 | | 2.90 | 63.80 | |
| | Angle | | 23.00 | 0.15 | | 3.80 | 13.11 | |
| | Both Side Long Pipe(3x2) | | 6.00 | 31.20 | 300 2 300 | 2.90 | 542.88 | |
| | Angle | | 24.00 | 0.15 | | 3.80 | 13.68 | |
| | Right Side Support | | 1.00 | 1.62 | | 2.90 | 4.70 | |
| | | | 2.00 | 1.82 | | 2.90 | 10.56 5.37 | |
| | | | 1.00 | 1.85 | | 2.90 | 6.82 | - |
| | | | 1.00 | 2.35 1.55 | | 2.90 | 4.50 | |
| | | | 1.00 | 2.16 | To pick a | 2.90 | 6.26 | |

| SN | Description | UNIT | Nos | L | В | Н | Total |
|---------------|--|-----------|-------|------|-------------------|------|--------|
| | | | 1.00 | 2.36 | | 2.90 | 6.84 |
| | | | 1.00 | 1.53 | | 2.90 | 4.44 |
| | | | 1.00 | 2.18 | | 2.90 | 6.32 |
| | Horizontal | | 11.00 | 1.95 | | 2.90 | 62.21 |
| | Angle | | 22.00 | 0.15 | in the latest the | 3.80 | 12.54 |
| | Support | | 14.00 | 0.58 | | 2.90 | 23.55 |
| | | | 16.00 | 1.00 | Hall to | 2.90 | 46.40 |
| | | | 10.00 | 8.27 | | 2.90 | 239.83 |
| | Angle | | 50.00 | 0.15 | | 3.80 | 28.50 |
| | Patta | | 10.00 | 1.09 | R& 1.9 E | 2.90 | 31.61 |
| | | | 10.00 | 2.00 | | 2.90 | 58.00 |
| | | | 10.00 | 1.05 | | 2.90 | 30.45 |
| | | | 10.00 | 8.00 | | 2.90 | 232.00 |
| | | | 2.00 | 1.70 | | 2.90 | 9.86 |
| | CONTRACTOR AND | | 10.00 | 1.84 | | 2.90 | 53.36 |
| | Angle | | 10.00 | 0.15 | | 3.80 | 5.70 |
| | | | 8.00 | 0.76 | | 2.90 | 17.63 |
| | | | 4.00 | 0.58 | | 2.90 | 6.73 |
| | | | 8.00 | 1.00 | | 2.90 | 23.20 |
| | | | 40.00 | 0.15 | | 2.90 | 17.40 |
| | Patta | | 10.00 | 1.16 | | 2.90 | 33.64 |
| | | 20 0 20 0 | 10.00 | 2.56 | | 2.90 | 74.24 |
| | | | 8.00 | 2.05 | | 2.90 | 47.56 |
| | | | 2.00 | 1.75 | | 2.90 | |
| | Angle | | 20.00 | 0.15 | | 3.80 | 10.15 |
| | Patta | | 10.00 | 0.50 | | 2.90 | 11.40 |
| | | | 12.00 | 1.00 | | 2.90 | 14.50 |
| | | | 8.00 | 0.57 | | 2.90 | 34.80 |
| | Angle | | 40.00 | 0.15 | | | 13.22 |
| | | | 4.00 | 8.40 | | 3.80 | 22.80 |
| | | | 6.00 | 8.70 | | 2.90 | 97.44 |
| | | 10 | 7.00 | 2.00 | | 2.90 | 151.38 |
| line | | | 3.00 | 1.55 | | 2.90 | 40.60 |
| | | | 10.00 | 1.12 | | 2.90 | 13.49 |
| | | | 6.00 | 1.25 | | | 32.48 |
| 1 | | | 4.00 | 1.60 | | 2.90 | 21.75 |
| | Angle | | 20.00 | 0.15 | | 2.90 | 18.56 |
| | | | 20.00 | 0.13 | | 3.80 | 11.40 |
| | Prefunction Area | | | | | | - |
| | Vertical | | 14.00 | 1.82 | | 2.00 | 70.00 |
| | Horizontal | | 14.00 | 1.82 | | 2.90 | 73.89 |
| | Vertical | | 28.00 | 1.82 | | 2.90 | 50.34 |
| | Horizontal | | 14.00 | 3.72 | | 2.90 | 147.78 |
| _ | Angle | | 56.00 | | | 2.90 | 151.03 |
| \rightarrow | Horizontal | | 8.00 | 0.15 | | 3.80 | 31.92 |
| | | | | 5.02 | | 2.90 | 116.46 |
| | Vertical | | 7.00 | 4.85 | | 2.90 | 98.46 |
| \rightarrow | Horizontal | | 20.00 | 2.02 | | 2.90 | 117.16 |
| _ | Vertical | | 1.00 | 3.70 | | 2.90 | 10.73 |
| _ | Angle | | 1.00 | 1.85 | | 2.90 | 5.37 |
| | | | 50.00 | 0.15 | OF THE PERSON | 3.80 | 28.50 |

| SN | Description Vertical | IB - 15th R | Nos | L | В | ш | | |
|-------|--|-------------|--------|----------------|--------------|--------|---|-----|
| | Vertical | | 18.00 | 2.02 | | Н | Total | |
| 53774 | Horizontal | | 3.00 | 1.58 | | 2.90 | 105.44 | |
| | Horizontal | | 1.00 | 9.82 | | 2.90 | 13.75 | 1 |
| | | | 1.00 | 9.00 | | 2.90 | 28.48 | |
| | | | 1.00 | 8.05 | | 2.90 | 26.10 | |
| | | | 2.00 | ALL STOCK WAYS | | 2.90 | 23.35 | |
| | | | 1.00 | 7.00 5.97 | | 2.90 | 40.60 | |
| | | | 1.00 | 5.08 | | 2.90 | 17.31 | |
| | | | 1.00 | | | 2.90 | 14.73 | |
| | | | 1.00 | 4.18 | | 2.90 | 12.12 | |
| | | | | 3.35 | | 2.90 | 9.72 | |
| | Angle | | 1.00 | 2.40 | | 2.90 | 6.96 | |
| | Angle 35x35x5 | | 46.00 | 0.15 | | 3.80 | 26.22 | |
| - | Pipe 75x25x1.7mm | | 13.00 | 3.90 | | | 139.30 | RA- |
| | | | 13.00 | 6.05 | | | 199.42 | |
| | Angle | | 13.00 | 3.90 | | | 128.55 | |
| | Angle 50x50x5mm | | 1.00 | 18.50 | | MINE E | 50.83 | |
| | | | 36.00 | 0.25 | | | 35.33 | |
| | Total | 14 | | | | | 00.00 | |
| | Less Previous Qty | Kg | | | Karala kadi | 1 - 1 | 4,209.01 | |
| | This Bill Qty | Kg | | | | | 4,209.01 | |
| | | Kg | | | KERNET KEE | | 0.00 | |
| 80.00 | Providing and fixing of 12 mm thk ply on | | | and the | | | 0.00 | |
| | existing surface as per drawing | Sqm | | | | Paul P | E - 2 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 | |
| | Banquet Hall | | 2.00 | 3.00 | | | | |
| | Less Door | | (2.00) | 0.80 | | 4.60 | 27.60 | |
| | Rear side Prefunction | | 1.00 | 4.00 | | 2.40 | (3.84) | |
| | Less Door | | (2.00) | 0.90 | | 4.60 | 18.40 | |
| | Lobby Ceiling | Sqm | 1.00 | | | 2.40 | (4.32) | |
| | Toilet area behind Tile | Sqm | 12.00 | 8.00 | 4.50 | | 36.00 | |
| | Total | | 12.00 | 0.72 | | 2.90 | 25.06 | |
| 3.00 | Gyp Board fixing | | | | | | 98.90 | |
| l | Lobby center Ceiling | | 1.00 | | | | | |
| E | Banquet Hall | | 1.00 | 12.00 | 3 | | 36.00 | |
| | | | 3.00 | 7.80 | 3.1 | | 72.54 | |
| | | | | | | | 108.54 | |
| | | | | | | | | |
| 1 | | | | | 22XI-1 11 1- | | | |

| S | " NO. ITEM DESCRIPTION | | | | | | | | | |
|--|---|------|-----------|------------------------|-----------|-----------|----------|------|-----|-------------|
| | | UNII | | Quan | tity | | 42.5 | Rate | % | Amount |
| - | | | Prev Qty | -00000 EURANASSESSANIO | | Total Oty | | | | |
| | Flooring Works | | | ut ut | V | | | | | |
| | Laying Italian Stone in Flooring including | 7 | MINE | | | | | | | |
| | cement: 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC floor protection, assistance In procurement, selection and wastage control of the owner supplied stone, complete all as per drawing (MARBLE TO BE SUPPLIED BY CLIENT) | Sqm | 464.00 | | | 464.00 | 2,700 | 0.00 | 85% | 10,64,873 |
| 2 | cement mortar (1 white cement : 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC floor protection, assistance In procurement selection and wastage control of the owner supplied stone, complete all as per drawing. (MARBLE TO BE SUPPLIED BY CLIENT) | qm | 134.68 | | | 134.68 | 3,400 | 00 8 | 35% | 3,89,225.2 |
| Flooring Works Flooring Works Laying Italian Stone in Flooring including Band sill et claded of 30 to 35mm thick cement mortar (1 white coment of 30 to 35mm thick cement mortar (1 white coment of 30 to 35mm thick cement mortar (1 white coment of 30 to 35mm thick cement mortar (1 white coment of 30 to 35mm thick cement mortar (1 white coment of 30 to 35mm thick cement mortar (1 white coment of 30 to 35mm thick cement mortar (1 white coment of 30 to 35mm thick cement mortar (1 white coment of 30 to 35mm thick cement mortar (1 white coment of 30 to 35mm thick cement mortar (1 white coment : 4 coarse sand) and pioned with acme 1000 stone filler chemical & colour pigment. It omatch the shade of 5tone including clasning, rubbing and clamond polishing & applying Ame shade of 5tone including clasning, rubbing and clamond polishing & applying Ame shade of 5tone including clasning, rubbing and clamond polishing & applying Ame shade of 5tone including clasning, rubbing and clamond polishing & applying Ame shade of 5tone including clasning, rubbing and clamond polishing & applying Ame shade of 5tone including shade of protector, assistance in procurement sheet, and the shade of 5tone including shade of protector, assistance in procurement sheet, and the shade of 5tone including Stone, complex all all petits, laid with 30 to 35mm thick coment mortar (1 white cement : 4 coarse shade) and protection, assistance in procurement sheet, protection, assistance in procurement selection procurement selection and shade of shade of 35mm thick protection, assistance in procurement selection procurement selection and shade of shade of 35mm thick processes of 1 shade o | | | | | | | | | | |
| 3 | instruction with book match grains as shown in the drawing at all heights, laid with 30 to 35mm thick cement mortar (1 white cement: 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC protection, assistance in procurement, selection and wastage control of the owner supplied stone, complete all as per drawing. (STONE TO BE SUPPLIED BY CLIENT) | m | 161.76 | 30.19 | 18 | 91.95 | 2,850.0 | 0 95 | 5% | 5,19,694.88 |
| · | clamps & fastener as per requirement/ architects instruction as shown in the drawing at all heights, laid with 30 to 35mm thick cement mortar (1 white cement: 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC protection, assistance in procurement ,selection and wastage control of the owner supplied stone, complete all as per drawing. | | | | | - | 2,750.00 | | | |
| | P/F Gypsum Board false ceiling using 2 number of 12mm thick gypboard in horizontal, vertical, coves & niches using gypsum ultra GI suspension system as per manufacturers recommendation. Complete with grouting, taping, making cut-outs for lights, grills, speaker, etc. The rate is inclusive of making suitable arrangement for chandler hanging wherever required, as per drawing at all heights. | 56 | 1.37 | - | 561. | 37 | 1,475.00 | 98% | | 8,11,458.89 |
| I | THE THEK POD | | THE PARTY | | Harrier L | | 1000 | | | |

| Sr. N | o. Item Description | TI CALL | 26 L(| BBY INTER | RIOR WOL | RK | | | | | |
|-----------------|---|---------|-------|-----------|--|-----------|------------|---------|------|--|------------------------|
| | | | UNIT | | Quanti | tv | | 100 | | | |
| | | | | - | This B | | | | Rate | % | Amour |
| | P/F 4 mm thick figured Anegrey Veneer (a approval of the architect) in ordinary | | | Prev Qty | Qty | Total | Qty | | | | |
| 7 | approval of the architect) in ceiling with stripped p | s per | | | | TE NEWSON | | | | | |
| | on existing ply surface, complete with PU polish heights, etc as per drawing. | attern | Sqm | | | | | | | | |
| | heights, etc as per drawing. | at all | 9,111 | | | | - | 3,850 | .00 | | |
| | Dase Rate of Veneer is Do 4400 per | | | | | | | | | 95% 2,00, 98% 7,83,8 98% 5,83,6 93% 2,85,8 | |
| | Site from Green | .O.R. | | | - 12 | | | | _ | | |
| | P/F 25mm thick HDF Board with fluted pattern a drawing in Vertical Band/ Faccing and | 0 000 | | | | | | | | | |
| 8 | drawing in Vertical Band/ Fascia, on existing ply su | s per | | | | X 5.78 | | | - | - | |
| | complete finished in level and including three or coats of plastic emulsions paint, skin finished. | more | i am | 70.00 | | | | | | | |
| | coats of plastic emulsions paint/ skin finish all as selection. | S per | Hill | 76.82 | - | 76. | 82 | 2,750. | 00 0 | 35% | 2.00.00 |
| | Panelling Works | PCI | | | | | | | | 70 70 | 2,00,69 |
| | P/F of 12mm thick | 100 | | | | | | | | | |
| | P/F of 12mm thick commercial ply panelling with 50 | 0m x | | | | | | | | | |
| 9 | A to gauge aluminium nine framework of | | | | | | THE RES | | | | |
| | both way maximum, in all locations & at all bar | . 5 | qm | 304.69 | F2 00 | | | | | | |
| 0 - 2 | as per drawing and instruction at site by the architect | ghts | | 004.05 | 53.93 | 304.6 | 59 2 | 2,625.0 | 00 9 | 8% | 7 83 915 |
| 10 | Same as above (SI NO - 12) but in the architect | t. | | | (| | | | | | 7,05,615 |
| | as per drawing and instruction at site by the architect Same as above (SI.NO 12) but in ceiling in place wall | e of | am | 400.04 | | | ` | | | 11. | |
| | | | qm | 108.01 | 108.54 | 216.5 | 55 2 | ,750.0 | 0 0 | 80/ | |
| 11 1 | of the architect) on existing panelling surface, wall/cove/nitch cladding complete will be surface. | oval | | | (| | | ,, 00.0 | 0 3 | 370 | 5,83,611. |
| 1 | wall/cove/nitch cladding complete with PU polish at neights, etc as per drawing. | in Sc | m | 61.68 | | 1 | , | | | | |
| 1 | neights, etc as per drawing. | t all | 1"" | 01.00 | 18.16 | 79.8 | 4 / 3 | 850.0 | 0 9 | 30/ | 2.05.055 |
| 3 | pase Rate of Veneer is Do 140/ De- | _ | | | (| | | | | 70 | 2,85,859 |
| 18 | Site from Green |).R. | 5 | | | | , | | - | | |
| 1 | O/F 6mm thick bond metal sheet , from Form | 0 | - | | | 1000 | | | | | |
| 12 | Surfaces, with approved adhesive and as per des | ian | | | MESE | | | | - | | |
| 6 | in existing wood surface at all height. Bond Metal to upplied by client free of cost at site. | he Sq | m | | | | | | | | |
| N | upplied by client free of cost at site. latel Works | | | | | • | 1,: | 500.00 | - | | - |
| P | /F 2 Fmm this lave | | | | | | | | | | |
| . de | /F 2.5mm thick CNC cut Aluminium sheet Jali as p | er | - | | | | | | | | |
| 13 | esign with anodised finish, matching with existi uminium glazing colour fixed as with existi | na | | | | -Tu - 's | | | | _ | |
| fra | uminium glazing colour, fixed on existing glazing complete as per drawing | ng Sqr | n | | - | | | | | | |
| P/ | ame, complete as per drawing. | 3 | | | | | 6,6 | 800.00 | - | | - |
| lin | F 2.5mm thick CNC cut SS sheet Jali as per designed by the state of th | gn | | 97.1 S E. | | | | | | | |
| 10000 | The lali to be for | 0.00 | | | | | | | | | |
| IL. | The Mac | | | 31.68 | | | The second | | | | |
| | | o oqu | 1 | 31.68 | | 31.68 | 15.0 | 00.00 | 150 | 4 | 74 000 - |
| | | | | | | | | | | | 71,280.00 |
| | | | | | | | Halle | | | | |
| 01 | shape / form like equal/unequal channel, angle, stir d plain surface with or without Otto | 9 | | | | | | | | - | |
| 5 and | d plain surface with or without CNC bend but wit IC cutting as required as product of the country of the countr | h | | | | | | | | | |
| this | IC cutting as required as per drawing. The pasting of material shall be done with | sqm | 5 | 1.68 | | 51.68 | | | | | |
| | material shall be done with approved make onesive/silicon. | of | | | | 31.08 | 10,50 | 00.00 | 98% | | 5,31,787.20 |
| Pro | oviding and doing brees late to | | | | | | | | | | |
| stor | noviding and doing brass Inlay Works 5mmx5mm in the flooring with cutting of stone and polishing after the brass inlay. | n | | | | | | | | | |
| fixir | ng of the brase inless | Rmt | : | 352 | | 250.00 | | ile. | | | |
| Pro | viding and fixing of 10x10mm Dule bronze matel in | | | | | 352.00 | 20 | 0.00 | 95% | | 66.880.00 |
| | of foxformin Dule bronze matel in | | Big. | | | | | | | | 10,000.00 |
| Doo | or shutter and Book match pattern and as per Drg | Rmt | 3 | 16.8 | | 316.80 | | | | | |
| Doo | or Works | | | | | 310.00 | 600 | 0.00 | 80% | | 1,52,064.00 |
| P/F | Door 40mm thick both side veneer & 40 x 8 mm | | | | | | | | | | |
| thick | Teakwood margin on all sides of door finished in | | | | | | | | | | - |
| IPU k | polish inclusive of matching PU polished Teak wood | | | | | | | | | | |
| incl | frame width up to 200 x50 mm, the item is | Sqm | | | | | | 1 | | | |
| | | | | | 1 6 3 | - | 21,500 | .00 | | | |
| Pas | ninges, door closer and mortice lock etc. | | | | | | | | - | | |
| 2000 | ndle of Veneer is Do 140/ De- | | | | | | | | | | |
| Provi | from Green | | | | | | | | | | |
| requi | iding and making Of pelmet whatever size will | | | | | | | | J. N | | - |
| | I Torring tricin ply with Ms Suports as and | Rmt | 20 | EE | | | | 199 | | | |
| Charles and the | and as per Dig | · with | 28. | 55 | - | 28.55 | 1,200. | 00 9 | 5% | | 22 5 47 55 |
| Provi | iture and storage Works | | AL D | | | | 1 2 2 2 2 | | 270 | | 32,547.00 |
| Venoc | ng and making and fixing of book shelf With | - | - | | | | | | | | |
| I ACLIE | er, wallpaper back Mirror with Pu poling and with spans paint as per drg. | Sam | 44. | 20 | | | - NO T. IO | | | | - |
| high a | Illim Sund Sunday Illing Willing | Juli | 44.2 | 11 | A 10 10 10 10 10 10 10 10 10 10 10 10 10 | 44 00 | 10.000 | | | | - The Line of the last |
| high o | Rate of Veneral | | | | | 44.22 | 19,000 (| 00 8 | 7% | 7 | 20 000 00 |
| high g | Rate of Veneer is Rs. 110/- PER SFT F.O.R. | | | | | 44.22 | 19,000.0 | 00 8 | 7% | 7, | ,30,956.60 |

| or. N | lo. Item Description | UNIT | BBY INTER | Quantity | | | | Total Control |
|-----------------------|--|--------------------------------------|-----------|-----------|-----------|-------------|-------|---------------|
| | | | - | This Bill | | Ra | te % | Amount |
| | P/F in position Reception table made with alumining | - | Prev Qty | Qty | Total Qty | | | B. R. C. Land |
| 21 | with stone and veneer, in 2 different levels as a drawing. Veneer to be finished with PU polish as a approved shade. All internal surface to have Vene including pedestal with 2-3 drawers and shutters. Shutter edges / drawer edges / all exposed edges to finished with PU Polish. Item includes completed hardware like hinges, drawers channel, lock handles, tower bolt, Ball Catcher, etc to be completed all respect as per drawing and Architect Instruction. stone to be supplied by client free of cost at site). | oer per eer All be No | 1 | | 1.00 | 1,40,000.00 | 0 85% | 1,19,000.0 |
| | Reception Table (size-4500*950*1050/750) | | | | | | | |
| | Base Rate of Veneer is Rs. 110/- PER SFT F.O.I Site from Green | | | | | | | |
| 22 | Proving and making and fixing of Display unit behir the reception counter with veneer,wallpaper,woo battens, and paints of the back with Pu Polish who | | 30.8 | | 30.80 | 13,000.00 | 90% | 3,60,360.0 |
| | ever required as per drg. Base Rate of Veneer is Rs. 110/- PER SFT F.O.F | | | | | | | 0,00,000.0 |
| 1 | Gite Irom Green | | | | | | | |
| | P/F in position Help Desk made with aluminium fram 18 mm BWP ply and to be finished with 19mm wit stone and veneer, in 2 different levels as per drawing Veneer to be finished with PU polish as per approve shade. All internal surface to have Veneer including pedestal with 2-3 drawers and shutters. All shutte edges / drawer edges / all exposed edges to be finished with PU Polish. Item includes complete required hardware like hinges, drawers channel, lock, handles tower bolt, Ball Catcher, etc to be completed in all respect as per drawing and Architect Instruction. stone to be supplied by client free of cost at site). | h d g g r d No | 1 | | 1.00 | 1,25,000.00 | 85% | 1,06,250.00 |
| | Help desk counter (Size - 5700*900*1050) Base Rate of Veneer is Rs. 110/- PER SFT F.O.R. | | | | | | | - |
| 24 | P/M, back of the office working counter 600 mm wide duly supported including 600 mm ht pin board above counter and 400mm deep x 450mm ht over head storage duly finished with anegre laminate and matching tape and all hardware. | Rmt | | | - | 13,500.00 | | |
| E | Proving and fixing of Black out rollar Blinds as nor | | | | | | | |
| / | Approved By architech and as per drg Paints Works | Sqm | | | - | 1,100.00 | | |
| C F | Providing and applying coats Fire and | | | | | | | - |
| | Providing and applying coats Fire retardant paint on the back surface of the ply. Providing and applying 3 coats of Acrylic Emulsion | Sqm | 412.7 | | 521.24 | 140.00 | 100% | 72,974.09 |
| 7 C d a tee | and ceiling after thoroughly sand papering surfaces to remove dust, dirt etc. and repairing dents, cracks, holes with POP to achieve level surface and finishing with two coats of primer, putty and three coats of paint including cost of material, labour, scaffolding etc. all several costs of material. | Sqm | 500 | • | 500.00 | 275.00 | 55% | 75,625.00 |
| P/ wa ap te: | /A Special Texture Paints with Polyester coating over alls & ceilings on smooth base ready to receive oplication as per manufacturer's instruction in coats & stures in selected colour & shade/ code BR Rs. | Sqm | | | • | 1,850.00 | | |
| 110 | A Gold/Silver leafing on existing surface of required | | | | | | | |

| Sr. I | No. Item Description | ANCE LO | BBY INTER | OR WORK | | | | |
|---------|--|---------|--|-----------|-----------|----------|------|----------|
| | to hem bescription | UNIT | CONTROL OF THE PROPERTY OF THE | Quantity | | Rate | 9 % | |
| | | | Prev Qty | This Bill | Total Qty | | /0 | Amount |
| 30 | applying a primer coat of approved steel primer and painted with two or more coats synthetic enamel paint to approved shade fixed together with bolts/plates etc. | Kg | 943.47 | 0.00 | 943.47 | 120.00 | 100% | 1,13,216 |
| | Civil Works | | | | | | | |
| 31 | P/L Full Brick Masonry/Block Works with first class well burnt bricks of designation 75, of any thickness in superstructure for walls, pillars, steps, parapet, cabin and other similar locations etc. with well burnt good quality bricks of class designation 75 in cement mortar 1:6 (1 cement : 6 sand) in true line, level and plumb including racking the joints, rubbing and cleaning the surface, with necessary scaffolding, curing etc. complete as directed and specified at all heights & levels. for all leads, lift including cost towards scaffolding complete. (THIS WORK IS IN CIVIL CONTRACTOR SCOPE) | | | | • | 7,500.00 | | |
| 2 | Providing and Applying 12-15mm thick cement plaster on the wall of mix 1:6 (1 cement : 6 fine sand) to all types of RCC work (small or big)/ brick /stone surfaces in levels, line, plumb, steel travelled finished or as directed, including providing necessary bands, drip moulds, tapak, grooves (at the junctions of walls and ceiling, walls and frames for doors or windows, around skirting/dado or other locations) also providing and fixing chicken mesh at the junction of masonry & concrete joints, p/ mixing 100% virgin homopolymer polypropylene monofilament fibrous reinforcement (Stucco-bond) in cement mortar, as directed complete to the satisfaction of Engg in charge/ architect for all evel and leads. The cost towards raking of brick joints/nacking RCC surfaces, necessary curing, scaffolding etc. to be included in the rates. THIS WORK IS IN CIVIL CONTRACTOR SCOPE | Sqm | | | | 300.00 | | |
| g th | rement : 4sand : 8 stone aggregate) using 20mm | Cum | | | - | 8,500.00 | | |
| | Total Amount | | | | | | | |

| SI | MB - 16 Description | SII IVI | A DIL | L LOb | by | Area | | | Yalex | Wa R | |
|---------|---|-------------------|-------|-----------------------|---------|-------|------|-------|--------|--------|-------|
| | | | UNIT | Nos | s | L | | В | Н | Tot | lei |
| 1 | .00 Laying Italian Stone in Flo | | | | | | | | - | 100 | ai |
| | including Band ,sill etc laid on | poring | | | | MEG | | | | - | |
| | 35mm thick cement mortar (1 | 30 to | | | | | | | | | |
| | cement : 4 coarse sand) and just acmount of the same sand and just acmount of the same sand and just acmount of the same sand acmount of the same sand acmount of the same sand account of the same | white | | | | | | | | | |
| | with acme 1000 stone filler | oined | | | | | | | | | |
| | CMD office | | | | | | | | | | |
| | Lounge | | Sqm | | | | | | | | |
| | Lourige | | | 1.0 | 20 | 2 | 20 | | | | |
| _ | | | | 1.0 | | | 20 | 2.93 | | 6 | .45 |
| | Less(1.5+1.2/2) | | | | | | 55 | 3.95 | | 17. | .97 |
| | Cabin | | | (1.0 | - | | 00 | 1.35 | | (1 | 35) |
| | Staff area | | | 1.0 | | 5 | 20 | 4.6 | | 23. | |
| | | - | | 1.0 | 00 | 3.4 | 40 | 6.8 | (X | 23. | |
| | Betwwen Column | | | 1.0 | 00 | 0.3 | 35 | 2.40 | | | |
| 11 10 1 | - Coldilli | | | 1.0 | 0 | 21.3 | | 3.10 | | 0.84 | |
| | | | | (2.0 | | | | | | 66.19 | 9 |
| 1.0.1 | | | | 1.0 | , | 1.4 | | 1.00 | | -2.92 | |
| | | | | | | 21.3 | | 1.70 | | 36.30 | |
| | | | | 2.0 | | 7.4 | | 1.65 | Me sel | 24.59 | |
| | Lobby | | | 1.00 | | 6.5 | 5 | 2.21 | | 14.48 | |
| | | | | 1.00 | | 7.3 | 2 | 7.20 | | 52.70 | |
| | Pantry | | | 1.00 |) | 2.5 | | 3.25 | | | |
| | | | | 1.00 | | 2.5 | | .55 | | 15.63 | |
| | ВОН | | 3 | 1.00 | | 5.2 | _ | | | 3.97 | |
| | Entrance Area | | | 1.00 | | | | 2.05 | | 10.66 | RA-1 |
| | | | | | | 6.60 | _ | .80 | | 5.28 | |
| | Trashold | | - | 1.00 | | 6.43 | - | .80 | | 5.14 | 7 8 8 |
| | | | | 2.00 | | 2.00 | 0 0 | .40 | | 1.60 | |
| | | | | 1.00 | | 1.80 | 0 | .33 | | 0.59 | |
| | Skirting | | | 1.00 | | 2.40 | | 30 | | | |
| 201 | Skirting | | | 2.00 | | 2.40 | - | 30 | - | 0.72 | |
| | | | | 2.00 | | 4.50 | - | | - | 1.44 | |
| | | 4 18 | | 2.00 | | | - | 30 | | 2.70 | |
| | Lift Lobby | | | and the second second | - | 4.40 | - 0. | 30 | | 2.64 | |
| | | | | 1.00 | 300 | 3.10 | | 50 | | 7.75 | |
| | | | - | 1.00 | | 6.62 | 4. | 40 | TU | 29.13 | |
| | Entrance | - | - | 1.00 | | 2.00 | 2.4 | 40 | | 4.80 | |
| | | | | 1.00 | | 7.32 | 3.2 | 25 | | 23.79 | - |
| | | | | 2.00 | SE | 6.43 | 3.5 | | | | RA-14 |
| | | | | 1.00 | | 8.50 | 2.4 | | | 45.01 | |
| | | | | 3.00 | | 21.50 | | | | 20.83 | |
| | This Bill Co | | | | | 21.50 | 0.3 | 0 | | 19.35 | |
| | This Bill Qty | Sqm | | | | | | | | | |
| | Less Previous Qty | Sqm | | | | | | | | 463.30 | |
| | This Bill Qty | | | | | | | | | 463.30 | |
| | | Sqm | | | | | | | | 0.00 | |
| 2.00 | Laying Italian Stone in triangular | | | | | | | | | 0.00 | |
| - 11 | Account I I I I I I I I I I I I I I I I I I I | The second second | 1 | 21 | | | | | | | |
| | -igin Lilipidilion laid on 30 t- o- | 1 | | | | ATE | | | | | |
| 1, | The Cerrie Monar (1 white some | | | 1.00 | 1 | 8.20 | 7.40 | | 1 | 24.00 | |
| - | - coarse sail() | | | | | | | | 1 | 34.68 | |
| L | ess Previous Qty | | | | | | | | | | |
| T | his Bill Qty | | | | | | 1200 | | 4 | 34.68 | |
| .00 | Fixing Italian Stone in Wet Wall | | | | | | | | | | |
| | Cladding including SS clamps & | | | | T. Sing | | | | - | 0.00 | |
| | fastener as non | | | | | | | I BY | 1 | | Mill: |
| | fastener as per requirement/ architects instruction | | | | | | | | | | |
| | and instruction | 9-1-6 | | | | | | | 1 | | |
| | Lobby Reception side | | | | | | | | | | |
| | , recobacti side | Sqm | 1 | 1.00 | 2 | .35 | | 6.60 | 1 | 5.51 | |
| | | | | | 1000 | | | u.n() | 1 71 | | |

| SN | MB - 16th R | UNIT | Nos | L | В | Н | Total | |
|---------|--------------------------------------|------|----------|--|-------|--------|--|-------|
|) N | Description | UNII | | | В | | Total | |
| | | | 1.00 | 2.27 | | 6.60 | 14.98 | |
| | | | 1.00 | 2.00 | | 6.60 | 13.20 | |
| | | | 2.00 | 3.20 | | 6.60 | 42.24 | |
| | Less | | (2.00) | 1.12 | | 3.22 | -7.21 | |
| ## I | | | 1.00 | 2.00 | | 6.60 | 13.20 | |
| | | | 1.00 | 4.60 | | 4.50 | 20.70 | 3 |
| | | | 2.00 | 0.45 | | 6.50 | 5.85 | |
| | | | 2.00 | 0.70 | | 6.50 | 9.10 | |
| | Column | | 2.00 | 0.90 | | 6.60 | 11.88 | RA-12 |
| | | | 2.00 | 0.30 | | 6.60 | 3.96 | |
| | | | 1.00 | 0.70 | | 6.60 | 4.62 | |
| | Lift stone | | 12.00 | 0.30 | | 6.80 | 24.48 | RA-16 |
| | | | 1.00 | (0.84 | < | 6.80 | 5.71 | |
| | | | | | | | | |
| | Total | Sqm | | | | | 191.95 | (|
| | Less Previous Qty | Sqm | | | | | 161.76 | |
| | This Bill Qty | Sqm | | | | | 30.19 | |
| = 00 | 2/5 0 | | | | | | | |
| 5.00 | P/F Gypsum Board false ceiling | | | | | | | |
| | using 2 number of 12mm thick | | | | | - 150 | | |
| | gypboard in horizontal. Prefunction | Sqm | 1.00 | 4.20 | 4.84 | | 20.33 | |
| - | Toilet Entry | Sqm | 1.00 | | | | ADMINISTRAÇÃO DE CONTRACTOR DE | |
| | Tollet Ellity | Sqm | | 1.50 | 2.95 | | 4.43 | |
| 70.00 | Kitchen Entry | | 1.00 | 2.80 | 4.73 | | 13.24 | |
| | Nitchell Elitiy | Sqm | 1.00 | 3.45 | 2.05 | | 7.07 | |
| | Lobby Column | Sqm | 1.00 | 1.20 | 1.87 | | 2.24 | |
| | Lobby Column | Sqm | 3.00 | 6.60 | 1.40 | | 27.72 | |
| | owner office | Sqm | 1.00 | 6.63 | 2.25 | | 14.92 | |
| | Less Corners Having Doors | Sqm | (1.00) | 1.00 | 0.40 | | -0.40 | |
| | Lobby | Sqm | 1.00 | 22.00 | 10.80 | | 237.60 | |
| | Patta | Sqm | 2.00 | 7.90 | 0.55 | | 8.69 | |
| | | Sqm | 2.00 | 17.40 | 0.55 | | 19.14 | |
| | cove | Sqm | 2.00 | 17.40 | 0.15 | | 5.22 | |
| | | Sqm | 2.00 | 7.90 | 0.15 | | 2.37 | |
| | Patta | Sqm | 1.00 | 6.70 | 0.95 | | 6.37 | |
| | | Sqm | 2.00 | 9.90 | 1.15 | | 22.77 | |
| | | Sqm | 2.00 | 4.05 | 1.15 | | 9.32 | |
| | Lift | Sqm | 1.00 | 4.20 | 10.10 | | 42.42 | |
| | Near Lift Vertical | | 2.00 | 9.80 | 1.40 | | 27.44 | RA-7 |
| 20111 | | | 2.00 | 7.50 | 0.65 | | 9.75 | |
| | | | 2.00 | 4.00 | 0.65 | | 5.20 | |
| | | | 1.00 | 10.10 | 0.30 | | 3.03 | |
| | . Entrance | | 1.00 | 6.50 | 3.20 | | 20.80 | RA-13 |
| J. Te. | Ac Grill | | 2.00 | 1.80 | 0.10 | | 0.36 | |
| | Ceiling Cove | | 2.00 | 17.24 | 0.60 | | 20.69 | |
| | | | 2.00 | 10.60 | 0.60 | 1,1123 | 12.72 | 30 |
| | | | 2.00 | 1.15 | 0.60 | | 1.38 | 137 |
| | Palmet Area | | 2.00 | 6.40 | 1.20 | | 15.36 | |
| | | | 1.00 | 3.00 | 0.40 | | 1.20 | |
| | | | 1.00 | 5.00 | 5.10 | | 1.20 | |
| Joy The | Total | Sqm | | | | | 561.37 | |
| | Less Previous Qty | Sqm | E REEDER | | | | 561.37 | |
| | | | | Annual Control of the | L | N | | |

| SN | MB - 16th R | UNIT | Nos | L | В | Н | Total | |
|----------------|---|--------|--------|----------|------|--|--------------|-------|
| and the second | | | | | - | п | | 1 |
| 6.00 | P O P On wall | Sqm | 2.00 | 1.61 | 7.80 | | 25.00 | |
| 1 | Less Previous Qty | -18-20 | | | | | 25.00 | |
| - | This Bill Qty | | | A LE LUY | | | 0.00 | |
| | | | | | | | | |
| 8.00 | P/F 25mm thick HDF Board with fluted pattern as per drawing in Vertical Band/ Fascia, on existing ply surfac | | 2.00 | 21.35 | | 1.15 | 49.11 | |
| | Side | | 2.00 | 1.15 | | 1.15 | 2.65 | |
| 100 | | | 2.00 | 10.90 | | 1.15 | 25.07 | |
| | | Sqm | | | | | 76.82 | |
| | Less Previous Qty | | | | | | 76.82 | |
| | This Bill Qty | | | | | | 0.00 | |
| 9.00 | P/F of 12mm thick commercial ply panelling with 50m x 50mm x16 gauge aluminium pipe framework @ 600 x 600 | | | | | | | |
| | Prefunction | Sqm | 1.00 | 10.83 | | 6.68 | 72.29 | |
| | Less | Sqm | (1.00) | 0.58 | | 2.40 | -1.39 | |
| | | Sqm | (1.00) | 1.20 | | 2.40 | -2.88 | |
| | | Sqm | (1.00) | 0.72 | 189 | 2.40 | -1.73 | |
| | | Sqm | 2.00 | 2.15 | | 6.65 | 28.60 | |
| | | Sqm | 4.00 | 1.81 | | 6.65 | 48.15 | |
| | | Sqm | 2.00 | 1.22 | | 8.05 | 19.64 | |
| | Less Door Opening | Sqm | (2.00) | 0.98 | | 2.40 | -4.70 | + |
| | Back side | Sqm | 1.00 | 6.55 | | 4.28 | 28.03 | |
| _ | Less Door Opening | | | 0.75 | | 2.40 | -3.60 | |
| | wall | Sqm | (2.00) | | | 200740. 000000 | 49.80 | 1 |
| | Wall | Sqm | 2.00 | 21.65 | | 1.15 | | |
| | | Sqm | 2.00 | 10.75 | | 1.15 | 24.73 | - |
| | | | 2.00 | 1.15 | | 1.15 | 2.65 | - |
| | | | 2.00 | 10.90 | | 1.15 | 25.07 | - |
| | L'CL VAL III | | 1.00 | 2.46 | _ | 8.15 | 20.05 | X |
| | Lift Wall | | 1.00 | 7.77 | | 6.90 | (53.61 | RA-16 |
| | Less Lift door | | (4.00) | | | 2.00 | <u>-6.40</u> | |
| | Side | | 8.00 | 0.35 | (| 2.00 | 5.60 | |
| | | | 4.00 | 0.35 | (| 0.80 | (1.12 | |
| | | | | 1 | | | | |
| | Total | Sqm | | | | | 358.62 | |
| | Less Previous Qty | Sqm | | | | | 304.69 | |
| | This Bill Qty | Sqm | | | | | 53.93 | |
| | | | | | | | | |
| 10.00 | 3 | | | | | | | |
| | Ceiling | Sqm | 1.00 | 2.23 | 0.95 | | 2.12 | |
| | Door Above | Sqm | 6.00 | 3.15 | 0.95 | | 17.96 | |
| | | Sqm | 3.00 | 2.20 | 0.95 | No To Pri | 6.27 | |
| | | Sqm | 1.00 | 8.00 | 4.5 | | 36.00 | |
| | | Sqm | 2.00 | 4.50 | 0.15 | | 1.35 | 188 |
| * | | Sqm | 2.00 | 8.00 | 0.15 | | 2.40 | |
| | | Sqm | 2.00 | 7.10 | 0.1 | | 1.42 | |
| | | Sqm | 2.00 | 3.60 | 0.1 | A DE | 0.72 | |
| | Lobby Ceiling | Sqm | 2.00 | 17.90 | 0.45 | | 16.11 | |
| | | Sqm | 2.00 | 5.90 | 0.45 | | 5.31 | |
| | | Sqm | 2.00 | 15.90 | 0.45 | | 14.31 | |
| | | Sqm | 2.00 | 4.50 | 0.45 | | 4.05 | |
| | Lift Wall | -4111 | 2.00 | 7.50 | 0.70 | de la companya del companya de la companya del companya de la comp | 1.00 | |

| SN | MB - 16th R | UNIT | Nos | T | L | D | 11 | Total | |
|-----------|--|--|------------|------|--|---------|------------|---------|----------|
| J. | Lobby center Ceiling | ONIT | 1010277220 | 1 | | В | Н | Total | |
| | Banquet Hall | | 1.00 | 1 | 12.00 | 3 | | 36.00 (| RA-16 |
| | Total | Com | 3.00 | (| 7.80 | 3.1 | | 72.54 | |
| | STATE OF THE PARTY | Sqm | The second | | | | | 216.55 | |
| | Less Previous Qty | Sqm | | | | | | 108.01 | / |
| | This Bill Qty | Sqm | | | | | | 108.54 | |
| | D/F 4 | | | | | | | | |
| 11.00 | P/F 4 mm thick figured Anegre Veneer (as per approval of the architect) on existing panelling surface, in wall/cove/nitch cladding | | 1.00 | | 8.00 | 4.5 | | 36.00 | 2 |
| | | | 2.00 | | 4.50 | 0.15 | | 1.35 | |
| | | | 2.00 | | 8.00 | 0.15 | | 2.40 | 3// = |
| | | | 2.00 | | 7.10 | 0.15 | | 2.13 | |
| | | - | 2.00 | | 3.60 | 0.15 | T-us | 1.08 | |
| | Reception Back | | 2.00 | | 1.20 | 7.8 | | 18.72 | RA-11 |
| | Lift Side | | 1.00 | (| 2.40 | 6.9 | | 16.56 (| RA-16 |
| | Less | | (1.00) | (| 1.70 | (1.46 | - | -2.48 (| |
| | | PART I | 4.00 | (| 1.70 | < 0.6 | | 4.08 | |
| | Total | Sqm | | | 11 = 1 | | 5 0 0 | 79.84 | |
| | Less Previous Qty | | | | AVE I | | | 61.68 | |
| | This Bill Qty | | | | | | | 18.16 | |
| | | | | | | | | 10.10 | |
| 15.00 | P/F 1.5 mm thick dull Bronze finish ss sheet in all type of shape / form like equal/unequal channel, angle, stirp and plain surface with or without. | Sqm | 10.00 | | 3.75 | 0.5 | | 18.75 | RA-11 |
| | Ceiling | | 10.00 | | 3.53 | 0.5 | | 17.63 | |
| | | | 6.00 | | 2.70 | 0.5 | | 8.10 | |
| | | | 6.00 | | 2.40 | 0.5 | | 7.20 | DIE. |
| | Sqm | | | | and the same of th | | | 51.68 | |
| | | | | | | | | | |
| 17.00 | Providing and fixing of 10x10mm Dule bronze matel in Door shutter and Book match pattern and as per Drg | | 32.00 | | 3.30 | | | 105.60 | RA-11 |
| | | ALCO L | 24.00 | | 2.65 | | 1416 | 63.60 | |
| | | | 32.00 | | 3.30 | | - Miely | 105.60 | |
| | | | 12.00 | ZI K | 3.50 | | | 42.00 | |
| | Total | Rmt | | | | | | 316.80 | |
| | | | , EVENE | | | | | | |
| 19.00 | Providing and making Of pelmet whatever size will required in 19mm thich ply | | | | | | | | |
| | Banquet Hall | Rmt | 1.00 | T W | 12.75 | LECTIO | | 12.75 | |
| 3/1 | Lobby | Rmt | 2.00 | | 6.40 | | | 12.80 | |
| | | | 1.00 | | 3.00 | fail = | TEN | 3.00 | sei in E |
| | Total | The state of the s | 2-1-1 | | | | | 28.55 | |
| | | | | | | | | | |
| 20.00 | Proving and making and fixing of book shelf With veneer, wallpaper back Mirror with Pu poling and with high glass paint as per drg. | | | | | | | | |
| | | Sqm | 2.00 | | 1.60 | Ass. To | 6.60 | 21.12 | |
| | | Sqm | 2.00 | 1 | 1.75 | | 6.60 | 23.10 | |
| | Total | Sqm | | | | | | 44.22 | |
| 10 | Less Previous Qty | No. 1 | | | | | | 44.22 | |

| SN | Description | UNIT | Nos | L | ВН | Н | Total | |
|----------|--|------|--------|------|----------|-----------------------------|---------------|-------|
| | This Bill | | | | | | 0.00 | |
| | | | | | | | | |
| | Proving and making and fixing of | | | | | | Ordera Ancign | |
| 22.00 | Display unit behind | Sqm | 1.00 | 3.85 | 201 | 8.00 | 30.80 | 3 |
| | Less Previous Qty | Sqm | | | | | 30.80 | |
| | This Bill Qty | Sqm | | | | | 0.00 | |
| 30.00 | P/Doing MS work above false ceiling & sliding folding partitions & other locations as required | | | | | | | |
| | 3"x1"x2mm | | | | | Unit Wt. (Kg/M tr) | | |
| | Pre Function | Kg. | 2.00 | 4.80 | | 2.90 | 27.84 | |
| | | Kg. | 1.00 | 5.10 | | 2.90 | 14.79 | |
| | | Kg. | 4.00 | 6.00 | III Page | 2.90 | 69.60 | |
| | | Kg. | 4.00 | 2.00 | | 2.90 | 23.20 | JBIC |
| | | Kg. | 1.00 | 3.00 | | 2.90 | 8.70 | |
| | | Kg. | 9.00 | 2.07 | Rist | 2.90 | 54.03 | |
| | | Kg. | 2.00 | 0.50 | | 2.90 | 2.90 | |
| | Lobby | Kg. | 14.00 | 1.42 | | 2.90 | 57.65 | |
| | | Kg. | 16.00 | 1.92 | | 2.90 | 89.09 | |
| | | Kg. | 2.00 | 2.45 | | 2.90 | 14.21 | |
| | | Kg. | 7.00 | 1.75 | | 2.90 | 35.53 | |
| | | Kg. | 1.00 | 2.00 | | 2.90 | 5.80 | |
| | | Kg. | 7.00 | 1.42 | | 2.90 | 28.83 | |
| | | Kg. | 9.00 | 1.55 | | 2.90 | 40.46 | |
| | | Kg. | 5.00 | 2.33 | | 2.90 | 33.79 | 100 |
| | | Kg. | 22.00 | 1.42 | | 2.90 | 90.60 | |
| YII TELL | | Kg. | 5.00 | 1.02 | Ties | 2.90 | 14.79 | |
| | Angle | Kg. | 65.00 | 0.15 | | 3.80 | 37.05 | |
| | External Column | Kg. | 8.00 | 6.70 | | 2.90 | 155.44 | RA-13 |
| | | | 32.00 | 0.85 | | 2.90 | 78.88 | |
| | | | 32.00 | 0.65 | | 2.90 | 60.32 | |
| | Total | Kg. | | | | The state of | 943.47 | |
| TIX | Less Previous Qty | | | | | | 943.47 | |
| | This Bill Qty | | | | | | 0.00 | |
| | | | e many | | | | | 1.05 |

| Sr. No. | Item Description | UNIT | Previ Qty | Quantity This Bill | | Rate | % | Amount |
|---------|--|-------|------------------------------|-----------------------------|-----------|--|-----|---------------|
| | | | Drawi Oty | I IIIS DIII | | | | |
| | | | LIGAL CATA | Qty | Total Qty | 2 11 73 | | |
| | | | | | | | | |
| | Flooring Works | | | | | | | |
| 1 | Laying Italian Stone in Flooring including Band ,sill etc laid on 30 to 35mm thick cement mortar (1 white cement : 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC floor protection, assistance in procurement ,selection and wastage control of the owner supplied stone, complete all as per drawing. | Sqm | 87.62 | | 87.62 | 2,700.00 | 90% | 2,12,916.60 |
| | (MARBLE TO BE SUPPLIED BY CLIENT) | | | | | | | |
| | Stone Wall Cladding Works | | | | | | | |
| 2 | Laying Italian Stone in Wet Wall Cladding, skirting, niches, sides, etc including SS clamps & fastener as per requirement/ architects instruction as shown in the drawing at all heights, laid with 30 to 35mm thick cement mortar (1 white cement: 4 coarse sand) and joined with acme 1000 stone filler chemical & colour pigment, to match the shade of Stone including cleaning, rubbing and diamond polishing & applying Acme stone sealer on finished floor. The rate is inclusive of laying, removal & disposal of 3mm thick PVC protection, assistance in procurement ,selection and wastage control of the owner supplied stone, complete all as per drawing. (MARRIETO BE SUPPLIED BY CLIENT) | Sqm | 28.69 | | 28.69 | 2,800.00 | 95% | 76,315.40 |
| 3 | Fixing Glass mosaic tiles of approved make, size & pattern/design inclusive of base plaster with 1:4 cement mortar. The glass mosaic tiles to be fixed on the wall surface with the approved make of adhesive and to be grouted with epoxy grout. Base rate of the glass mosaic tile @ 400/sqft, F.O.R site. (TILE TO BE SUPPLIED BY CLIENT) | Sqm | 39.45 | - | 39.45 | 1,800.00 | 95% | 67,459.50 |
| 4 | fixing Lioli ceramic over existing ply surface in toilet with approved adhesive and applicator as per specifications of the manufacturer. Lioli ceramic to be supplied by the client free of cost at site. (Lioli TO BE SUPPLIED BY CLIENT) | 10.1% | 345.2 8 314.25 | 258.80 254.37 | | The state of the s | 90% | 7,61,137.78 |
| | Ceiling Works | | | | | | | |
| 5. | P/F Gypsum Board false ceiling using 2 number of 12mm thick gypboard in horizontal, vertical, coves & niches using gypsum ultra GI suspension system as per manufacturers recommendation. Complete with grouting, taping, making cut-outs for lights, grills speaker, , as per drawing at all heights. | Sqm | 112.59 | | 112.59 | 1,075.00 | 98% | 6 1,18,609.56 |
| 6 | Providing and Applying 12 - 15 mm thick P.O.P Punning on walls, columns, beams, niches, etc in right angles plumb, line & level including cleaning, scaffolding, etc at all heights. Complete as per drawing. | Sqm | 30.00 | | | 310.00 | | |

..

| | WASH ROOM INTERIOR WORK | | | | | Dete | % | Amount |
|-------|---|-------|-----------|-----------------------|-------------|-----------|---------|--------------|
| . No. | Item Description | UNIT | | Quantity This Bill | 10000 | Rate | 70 | Amount |
| | | | Previ Qty | Qty | Total Qty | | | |
| | | | | | | | | |
| | P/F of 12mm thick BWP ply panelling with 50m x 50mm | | | | | | 100 | |
| | x16 gauge aluminium pipe framework @ 600 x 600 both | | | | 417.04 | 2,875.00 | 98% | 11,75,010.20 |
| 7 | way maximum, in all locations & at all heights as per | Sqm | 417.04 | | 417.04 | 2,873.00 | 3070 | 11,75,010. |
| | | | | | | | - 2 | |
| | drawing and instruction at site by the architect. | | | | | | 34 | |
| | P/F 4 mm thick figured Anegre Veneer (as per approval of the architect) on existing panelling surface, in | | | BOS - | 25.00 | 2.050.00 | 90% | 86,625.00 |
| 8 | wall/cove/nitch cladding complete with PU polish at all | Sqm | 25.00 | | 25.00 | 3,850.00 | 50% | 80,023.00 |
| | heights, etc as per drawing. | | | | | | 18 1 | |
| | Base Rate of Veneer is Rs. 110/- PER SFT F.O.R. Site | | | | | | W S | |
| | from Green | | | | | | | |
| | P/F 6mm thick edge polished clear mirror with Bevelling | | | | | | | |
| 9 | as per drawing with 12 mm thick BWP ply in toilets, the | Sqm | 20.00 | | | 4,800.00 | | - |
| | Mirror to be firmly pasted on ply with neutral grade PH | | | | The H | | | |
| U) | Silicon. | | | | | | - 30 - | |
| - 20 | Matel Works P/F 1.5 mm thick dull Bronze finish ss sheet in all type of | | | | | | | |
| | shape / form like equal/unequal channel, angle, stirp | | | | Here have a | | | |
| | and plain surface with or without CNC bend but with | 100 | | | | 11 500 00 | | |
| 10 | CNC cutting as required as per drawing . The pasting of | | 5.00 | | | 11,500.00 | | |
| | this material shall be done with approved make of | | | | | | | |
| | adhesive/silicon . | | 24 | | | 13.686 | | |
| | Door Works | | | | | | | |
| | | | | | | | | |
| | P/F Toilet door 40mm thick both side veneer & 40 x 8 | 100 | | | REM | | | |
| 6000 | mm thick Teakwood margin on all sides of door finished | Sqm | 40.56 | | 40.56 | 20,000.00 | 95% | 7,70,640.00 |
| 11 | in PU polish inclusive of matching PU polished Teak wood door frame width up to 200 x50 mm, the item is | Sqiii | 40.50 | | 40.50 | 20,000.00 | | |
| | inclusive of moulding, beading as per drawing and 4nos | | | | | | | |
| | SS hinges, door closer and mortice lock etc. | 1 | | | | | | |
| | NEW Not FIN WONK 181 | Join | 2042 | 19.44 | 19.44 | 20,000.00 | 65% | 2,52,720.00 |
| | Base Rate of Veneer is Rs. 110/- PER SFT F.O.R. Site | 2 | 0 | 1 | | | | |
| | from Green | | | | | | | |
| U | | | | | | | | |
| | P/F shaft door 36mm thick having one side veneer & one | | | | | | | |
| | side laminate, 36 x 8 mm thick Teakwood margin on all | C | 6.00 | | | 13,500.00 | | |
| 12 | sides of door finished in PU polish inclusive of matching PU polished Teak wood door frame 100 x 40 mm, the | Sqm | 0.00 | | | 13,300.00 | | |
| | item is inclusive of moulding, beading as per drawing | | | | | | | |
| | and 4nos SS hinges, LN key lock. | | | | | | | |
| rear | Base Rate of Veneer is Rs. 110/- PER SFT F.O.R. Site | e | | STEE SV | | | | |
| | from Green | | | | | | | |
| 1/4 | Furniture and storage Works | 133 | | | | | | |
| Ta ha | P/F Toilet Counter in Italian Marble 19mm thk on top | | | | | | | |
| | fascia and apron as per drawing with 6mm thic | | | | | | | |
| | alabaster firmly pasted over 19 mm thk WP Ply 8 | | | | | | | |
| | adequate MS frame support and joined with adhesive a | | | | | | - Black | |
| 13 | per manufacturer's instructions and diamond polis | | 8.5 | 8 | 8.58 | 8,500.00 | 95% | 69,283.5 |
| | including making holes for sinks equipment's. Including | | | | | | | |
| | edge polishing and edge moulding as per Drawing. Stone to be supplied by client free of cost at site an | 711 | | | | | | |
| | finished area to be measured for payment). | | | | | | | |
| | ministred area to be measured for payments. | | | | - Table 183 | | | |
| | NEW | | | | 0 / 000 | 0.500.00 | | 6 30,600.0 |
| | Paints Works | | | 6.0 | 0 6.00 | 8,500.00 | 60% | 50,000.0 |

| | WASH ROOM INTERIOR WORK | | | | | | | |
|---------|--|-------|-----------|------------------|-----------|----------|------|-----------|
| ar. No. | Item Description | UNIT | | Quantity | | Rate | % | Amount |
| | | | Previ Qty | This Bill Qty | Total Qty | | | |
| 14 | Providing and applying 3 coats Fire retardant paint on the back surface of the ply. | Sqm | 417.08 | | 417.08 | 140.00 | 100% | 58,391.20 |
| 15 | Providing and applying 3 coats of Acrylic Emulsion Paint of approved colour and shade to internal walls and ceiling after thoroughly sand papering surfaces to remove dust, dirt etc. and repairing dents, cracks, holes with POP to achieve level surface and finishing with two coats of primer, putty and three coats of paint including cost of material, labour, scaffolding etc. all complete as directed by the Engineer in charge. Rate to include application at all heights and levels, surfaces and textures. Engineer in charges' approval required after each coat. Tenderer to submit sample to the Engineer in charges for approval. Approved Make: Asian Paints, Jotun, Berger, | Sqm | 275.00 | | 275.00 | 275.00 | 50% | 37,812.50 |
| | MS Works | | | | | | | |
| 16 | P/Doing MS work above false ceiling & sliding folding partitions & other locations as required with ISMB, tubular/pipe sections, etc in grid formation for ceiling truss, platforms, railings, ladders etc. All protected by applying a primer coat of approved steel primer and painted with two or more coats synthetic enamel paint to approved shade fixed together with bolts/plates etc. complete as per specification. | Кg | 1,000.00 | | | 120.00 | | |
| | Civil Works | - VAL | | | | | | |
| • | P/L Full Brick Masonry/Block Works with first class well-burnt bricks of designation 75, of any thickness in superstructure for walls, pillars, steps, parapet, cabin and other similar locations etc. with well burnt good quality bricks of class designation 75 in cement mortar 1:6 (1 cement : 6 sand) in true line, level and plumb including racking the joints, rubbing and cleaning the surface, with necessary scaffolding, curing etc. complete as directed and specified at all heights & levels. for all leads, lift including cost towards scaffolding complete. (THIS WORK IS IN CIVIL CONTRACTOR SCOPE) | Cum | 15.00 | | | 7,500.00 | | |

| 1 | WASH ROOM INTERIOR WORK | | | | | his see | | |
|--------|--|------|-----------|------------------------|-----------|----------|---|-----------|
| r. No. | Item Description | UNIT | Previ Qty | Quantity This Bill Qty | Total Qty | Rate | % | Amount |
| 18 | Providing and Applying 12-15mm thick cement plaster on the wall of mix 1:6 (1 cement : 6 fine sand) to all types of RCC work (small or big)/ brick /stone surfaces in levels, line, plumb, steel travelled finished or as directed, including providing necessary bands, drip moulds, tapak, grooves (at the junctions of walls and ceiling, walls and frames for doors or windows, around skirting/dado or other locations) also providing and fixing chicken mesh at the junction of masonry & concrete joints, p/ mixing 100% virgin homopolymer polypropylene monofilament fibrous reinforcement (Stucco-bond) in cement mortar, as directed complete to the satisfaction of Engg in charge/ architect for all level and leads. The cost towards raking of brick joints/ hacking RCC surfaces, necessary curing, scaffolding etc. to be included in the rates. (THIS WORK IS IN CIVIL CONTRACTOR SCOPE) | Sqm | 200.00 | | | 300.00 | | |
| 19 | Providing and laying of cement concrete 1:4:8 (1 cement : 4sand : 8 stone aggregate) using 20mm graded aggregate for screeding over R.C.C. slab as per the detailed drawings including shuttering, at all levels and leads. (THIS WORK IS IN CIVIL CONTRACTOR SCOPE) | Cum | 20.00 | | | 8,500.00 | | |
| 20 | P/L A.A.C. foam block waste light weight concrete in Sunken/ Raised Areas of approx. 600 kg per cum density laid consolidated cured, finished smooth including finishing & grouting with water proof cement mortar & as per specification and drawing. 1:4:8 (1 Cement: 4 Coarse Sand: 8 AAC broken aggregate). (MARBLE TO BE SUPPLIED BY CLIENT) | Cum | 30.00 | | | 4,750.00 | | |
| | Total | | | | Er | | | 37,17,521 |
| | | | | gective = | A / *** | | | |

Surface Color of the Color of t